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UNIT-I

VECTORS

INTRODUCTION:-

In our real life situation we deal with physical quantities such as distance, speed, temperature, volume
etc. These quantities are sufficient to describe change of position, rate of change of position, body temperature or
temperature of a certain place and space occupied in a confined portion respectively.

We have also come across physical quantities such as displacement, velocity, acceleration, momentum etc, which are

of different type in comparison to above. Consider the figure-1, where A, B, C are at a distance 4k.m. from P. If we

start from P, then covering 4k.m. distance is not sufficient to
describe the destination where we reach after the travel, . ~ So here
the end point plays an important role giving rise the need of
direction. So we need to study about direction of a P 4 km - quantity,

along with magnitude.
4 km

Fig - 1

OBJECTIVE
After completion of the topic you are able to :-
i) Define and distinguish between scalars and vectors.
ii) Represent a vector as directed line segment. iii) Classify vectors in to different types. iv)
Resolve vector along two or three mutually perpendicular axes.
V) Define dot product of two vectors and explain its geometrical meaning.

vi) Define cross product of two vectors and apply it to find area of triangle and parallelogram.

Expected background knowledge

i) Knowledge of plane and co-ordinate geometry ii)

Trigonometry.

Scalars and vectors

All the physical quantities can be divided into two types. 1)
Scalar quantity or Scalar. ii) Vector quantity or Vector.
Scalar quantity: - The physical quantities which requires only magnitude for its complete specification is called as
scalar quantities.
Examples: - Speed, mass, distance, velocity, volume etc.

Vector: - A directed line segment is called as vector.




Vector quantities:- A physical quantity which requires both magnitude & direction for its complete specification and
satisfies the law of vector addition is called as vector quantities. Examples: - Displacement, force, acceleration,
velocity, momentum etc. Representation of vector:- A vector is a directed line segment ABwhere A is the initial point
and B is the terminal point and direction is from A to B.

(see fig-2). \\
. A B
Similarly BA is a directed line which represents a vector /
having initial point B and terminal point A. Fig- 2
Notation: - A vector quantity is always represented by an A < B
arrow (—) mark over it or by bar (—) over it. For example
Fig-3

AB . It is also represented by a single small letter with an

arrow or bar mark over it. For example

—

a.

Magnitude of a vector: - Magnitude or modulus of a vector is the length of the vector. It is a scalar quantity.
Magnitude of AB = | AB | = Length AB. = AB

Types of Vector: - Vectors are of following types.

1) Null vector or zero vector or void vector: - A vector having zero magnitude and arbitrary direction is called as
a null vector and is denoted by 0.
Clearly, a null vector has no definite direction. If @= AB, then @ is a null (or zero) vector iff la|= " Oieif
| 4B | =0
For a null vector initial and terminal points are same.
2) Proper vector: - Any non zero vector is called as a proper vector. If | a | # 0 then ~d is a proper vector. 3) Unit

vector : - A vector whose magnitude is unity is called a unit vector. Unit vectors are denoted by a small letter

~

with ~overit. For example a a . | B | =1




5) Co-Linear vectors:- Vectors are said to be co-

linear or parallal if they have the same line of action. In f » - > »
figure-5 AF and BC are collinear. Fig-5
6) Parallel vectors: - Vectors are said to be parallel
if they have same line of action or have line of action >
parallel to one another. In fig-6 the vectors are parallel to -
each other. -
Fig - 6
7) Co-planner Vectors: - Vectors are said to be co-

planner if they lies on the same plane. In fig-7 vector

d, b and ¢ are coplanner.

8) Negative of a vector: - A vector having same

magnitude but opposite in direction to that of a given °

vector is called negative of that vector. If "d is any vector B
then negative vector of it is written as A

-"d and | a | = | -a | but both have direction opposite to

each other as shown in fig-8. A

Fig-8
9) Equal Vectors: - Two vectors are said to be equal
if they have same magnitude as well as same direction. = o
- B >
Thusa=b - ki

Remarks:- Two vectors can not be equal
i) If they have different magnitude .
ii) If they have inclined supports. iii) If they have different sense.

Vector operations Addition of vectors: -
Triangle law of vector addition: - The law states that If two vectors are represented by the two sides of a triangle taken

in same order their sum or resultant is represented by the 3" side of the triangle with direction in reverse order.




As shown in figure-10 d@ and b are two vectors represented

by two sides OA and AB of a triangle . N 2
ABC in same order. Then the sum @ + b is represented by a+b >
the third side OB taken in reverse order i.e. the vector a is B
represented by the directed segment 04 and the vector b - = A
be the

Fig - 10

directed segment AB, so that the terminal point A of d is
the initial point of b. Then OB represents the sum (or resultant) (5 +b) Thus OB=d +b

Note-1 — The method of drawing a triangle in order to define the vector sum (& + b) is called triangle law of addition
of the vectors.

Note-2 — Since any side of a triangle is less than the sum of the other two sides

|0B |# |04 |+ |4B |

Parallelogram law of vector addition: - If @ and b are

two vectors represented by two adjacent side of a > v g
parallelogram in magnitude and direction, then their sum z

. : . L %
(resultant) is represented in magnitude and direction by the 'y - A

diagonal which is passing through the common initial

point of the two vectors. o —> A
As shown in fig-11 if OA is @ and AB is b then OB B Fo-11

diagonal represent @ + b .
ie.d+b=0A+AB
Polygon law of vector addition: -If & , b,é and d are the
four sides of a polygon in same order then their sum is
represented by the last side of the polygon taken in

opposite order as shown in

figure-12.

Fig - 12

Subtraction of two vectors

If @ and b are two given vectors then the subtraction of b from @ denoted by @ - b is defined as addition of -b with d.
ie. @-b=a+(-b).
Properties of vector addition:- i) Vector addition is commutative i.e.ifd & b are any two vectors then:-
d+b=b+a
ii) Vector addition is associative i.e. if @, b, ¢ are any three vectors,

then (&+B)+E= §+(E+E)




iii) Existence of additive identity i.e. for any vector a , 0 is the additive identity
ie.0+d=d+0=d where 0 isanull vector.

iv) Existence of additive Inverse :- If @ is any non zero vector then -d is the
additive inverse of d, so that @ + (—@)=(-d) +a=7
Multiplication of a vector by a scalar : -

If d is a vector and k is a nonzero scalar then the multiplication of the vector @ by the scalar k is a vector denoted by k
a aork =~ whose magnitude | kk | timesthatofd.iekd = |k | x| a | =k x | a | ifk=0,
=(kx|a |if * k<0.

The direction of ka is same as that of d if k is positive and opposite as that of d@ if k is negative.

kd and d are always parallel to each other.

Properties of scalar multiplication of vectors :- Ifh and k

are scalars and d@ and b are given vectors then i) k (@ + E) =

kd + kb

ii) (h+k)d =ha +ka, (Distributive law) iii)

(hk)d = h(k@), (Associative law) iv) 1.

a=da

v)0.d4=0

Position Vector of a point
Let O be a fixed point called origin, let P be any other point, then the vector OP is called position vector of the point P

relative to O and is denoted by P’. As shown in figure-13, let AB be any vector , then applying triangle law of addition

we have ~
OA+AB __, = 0B where 0OA=dand OB= b 3
~—>AB=0B-04A =b-4d
< > - _?‘ L
= (Position vector of B)—( Position vector of A) Fig - 13 b

Section Formula:- Let A and B be two points with
position vector a and b respectively and P be a point on
line segment AB , dividing it in the ration m:n. internally.
Then the position vector of Pi.e.7 is

- mb+na
given by the formula: s
If P divides AB externally in the - ratio m:n then 7

mb-nd
m-n R
7‘) - a+hb
If P is the midpoint of AB then 2




Example-1 :- Prove that by vector method the medians of

%
a triangle are concurrent. 259
Solution:- Let ABC be a triangle where @, b and ¢ are the
position vector of A,B and C respectively. We have to E E
show that the medians of this triangle are concurrent.
1
B () = cd
Fig - 15
Let AD, BE and CF are the three medians of the triangle.
g =t
Now as D be the midpoint of BC, so position vector of D i.e. 2 .

Let G be any point of the median AD which divides AD in the ratio 2:1 . Then position vector of G is given

Z(E) 14
5> 2d+a_ =\ )t

by 9 241 3  (by applying section formula)
L _ a+b+é
:>g - 3
Let G’ be a point which divides BE in the ratio 2:1 ,
- _a+¢
Position vector of E is €T
a+7¢ -
Er': 28+ b _2( 2 )Hb
Then position vector of G’ is given by 2417 3 (by applying section formula)
— _ d+b+¢
=> g - 3

As position vector of a point is unique , so G=G’.

Similarly if we take G be a point on CF dividing it in 2:1 ratio then the position vector of G” will be same as that of
G.

Hence G is the one point where three median meet.

. .The three medians of a triangle are concurrent. (proved)

Example2: - Prove that i) Id + bl< Tal + Ibl (It is known as Triangle Inequality).
i) Ial - Ipl< Ia — b1 iii)la — bl< 1al + 151

Components of vector in 2D
Let XOY be the co-ordinate plane and P(x,y) be any point in this plane.

The unit vector along direction of X axis i.e. 0X is denoted by i.




The unit vector along direction of Y axis i.e. 0Y is denoted by J.

Then from figure-18 it is clear that OM =x1 and

_ R Y A
ON =ylJ.
So, the position vector of P is given by
N P
= = + y []
I
And OP=I0Pl =r=/x? +y? 0 7 >X

Fig-18

Representation of vector in component form in 2D

If ABis any vector having end points A( *1, ¥1) and B (¥2:Y2) , then it can be represented by
AB=(%2—%1)0 +(Y2= )]

Components of vector in 3D >
Let P(x,y,z) be a point in space and T, T and k be the unit el
vectors along X axis , Y axis and Z axis respectively. (as Rl Il
shown in fig-19 ) Then the position vector of P is given =
b_y) P P oy, = L 2 Y
OP=xi+y/J+ kihe vectors xi, y J, zk are called the K R,
components of OP along x—axis, y-axis and z-axis } <
respectively. And OP _10Pl = /x2 +y2 + 72 Ix
Fig-19

Addition and scalar multiplication in terms of component form of vectors: -

For any vector d =11 + azf + azk and b = b1t + bof + b3k
iya+b=(ar+ b))t +(az+ b)j+ (az+ b3)kij
b=(a;— b)) i +(az = bp)j + (az — b3)kiiiyk
ka,i + kayj + kas E, where K is a scalar. iv) d =b

Cail .+az2) +ask =bgt +pa)+ b3k

a-
a=

[ a1=by, ay=by, az=bs

Representation of vector in component form in 3-D & Distance between two points:

If AB is any vector having end points A( ¥10¥1,21) and B (¥2'¥2,22) , then it can be represented by AB =

Position vector of B — Position vector of A




=( 220 +yof + 25k) - (xqf + oy + Z1f':')

—(X2—X1)T +(Y2—Y1)J +(Zz—21)E

1481-V

Example 3:-

Show that the points A(2,6,3) , B(1,2,7) and ¢(3,10,-1) are collinear.

Solution:- From given data Position vector of A, 04A=21+6J+3Fk
Position vector of B, OB=1 +2J+7k

Now AB=0B-04=(1-2)1 + (2-6) ]+ (7 =3 k=_i-4] + 4k

AC=0C-0A=(3—-2)0 + (10-6)]+ (—1—3)k =i+ 4] -4k

- (ndf + )= - AB

| "ABor collinear. ACM

. . They have same support and common point A.
As ‘A’ is common to both vector , that proves A,B and C are collinear.

Example-4: - Prove that the points having position vector givenby 21 J- +k * | i-3J -5
31 -4J - 4kform a right angled triangle. [2009(w)]
SOlution :- Let A,B and C be the vertices of a triangle with position vectors 2 i J +k, i-3J -skand 31 -4/
- 4k respectively
Then . AB = Position vector of B — Position vector of A.
—(1-2)0 4+ (3-(1)S+(5-Dk=_2]6k
"BC = Position vector of C — Position vector of B.
—B=DI+(4-( 3+ 4= (5N k= 20+ L
"AC= Position vector of C — Position vector of A.
—B=21 +(4-(1)f+C4=Dk=13). 5k
Now AB= TABI =V(~D?+ (=22 +(=6)> —yT+4+36=- V41
BC= [BCl =22+ (-1)2+1%2 =Vd+1+1=+6

AC= [ACI =V12+ (=32 +(-5)2 _yT¥9+25= V35
From above BC2+AC 2 =6+35=41=AB2
Hence ABC is a right angled triangle.




Angle between the vectors:-
As shown in figure-20 angle between two vectors RS and

1Td can be determined as follows. S

Let OBbe a vector parallel to RS and 04 is a vector

parallel to _135 such that OB and OA4 intersect each other. p N Q
— [ 7
Then 6 = L AOB = angle between RS and P@Q. R

B
If 6 = 0 then vectors are said to be parallel. M
\
0 A
[

If 6 = then vectors are said to be orthogonal or

T

Dot 5 perpendicular. Fig 20
0

Product or Scalar product of vectors

The | G b =1 1151 cosd=ab cosf .
are, a and b respectively denoted by a. b is defined as the scalar abcos

6 , where 6 is the angle between @ and bsuchthat0< @ <.

scalar product of two vectors d@ and b whose magnitudes

Geometrical

meaning of
dot product

@ and b are two vectors having B

In =
figure21(a), 0 bona and from

angle betweenjg clear that ,

them. Let M g=1h ] cost . e
be the foot of
the

L
4

bl cos ) =1d I x projection of b on d M
EY

=18
=8

perpendicular ojection of bona= i Fig21
drawn from B @.b.=1d11b1cos =

to OA. Ib I projection of @ on b.
Then OM is the Projection of figure-21(a)

8l

IOMI = IOBI (2 cos Now d.b =1dl (I

which gives

Similarly we can write

=1b1 (1dl cos?)




b.d Similarly, let us draw a perpendicular from A on OB B
and let N be the foot of the perpendicular
in fig-21(b).

Then ON = Projection of on "~

and ON = OAcos =  cos
2 A
Fig-21(b)
Properties of Dot product
i) L= (commutative)
i) d.(b+¢)y=a.b+d.¢ (Distributive)
i) If @’ 11 b , then d.b=ab { as =0 in this case cosO0=1}
In particular (d)z =d.da=1Ial?
Li=JJ=kk=1
iv)If @-Lb,thend.b=0. {as@=090°in thiscase cos90°=0 }
In particulari. = J. k= k.i=0=1J.i= " kj =ik v)a~.0= 0.d
12

—0 vi@+Dby (@—by=1GI% IbI

viii) Work done by a Force:- The work done by a force F acting on a body causing displacement d is given by W =
Fd

a?-b? {Whereldl=a and1bI=b}

Dot product in terms of rectangular components

For any vectors @ = @@ + ay] + azk and b = byt + byJ + bsk e have,
d.b=a1b1 + azby + azbs ( by applying distributive( ii) , (iii) and (iv) successively)

Angle between two non zero vectors

For any two non zero vectors d = a1t .+ az) + azkand b= b1t .+ b2J + b3 k having 6is the angle between them

we have,
db PPN aby + azb, + azb-
cos@=—-=ab= e
JaZ+az2+a32 by % +by%+b3®
7 razrast P 02 703 (In terms of components.)
_ aiby + azb; + azb
B = cos 1( 171 202 3Y3 )

\fﬂll+azz+ﬂ3 bl +bz +b 2

o



Condition of Perpendicularity: -

- ~ 4 o~ 7 ~ A ~ .
Two vectors @ = @11 + az] + azk and b = byt + by] + bk are perpendicular to each other
Layby + azb; 4+ azb; =

Condition of Parallelism :-

- _ " a ~ > n A ~
Two vectors @ = @10+ az] + azk and b = byi + byJ + b3k gre parallel to each other [] @ 2

by b, by =

Scalar & vector projections of two vectors (Important formulae)

> ab
o bond= —
Scalar Projection of Ial
> ab . bd
.. bond= —a = |—la
Vector Projection of Ial? [ ]alz]
~_ db
o daonb= —
Scalar Projection of 1b1
- (_i.b ~ E. pcd
.. aonb=—==b=—=b
Vector Projection of 1b12 112

Examples: -
Q.- 7. Find the value of p for which the vectors 3 1.+ 2] +9k, 1 .+ p J+. 3k are perpendicular to each other.
Solution:- Letd =3 1.+ 2J +9kand b=1.+p J+.3k.
Herea;=3,a2=2,a3=9b1=1,b,=p & b3 =3
Given @1 b =>a;b, +azb, + azh; =0

= 3.1+2.pt9.3=0

=>3+2p+27=0

=>2p= -30

=p=-15 (Ans)
Q-8 Find the value of p for which the vectors @ =3 { + 2] +9k, b=1+ p J+ 3k are parallel to each other.
( 2014-W)

Solution:- Given by b, by 1 p  3{ Taking 1* two terms}
3=- E .
[ p[]p=3 (Ans) {Note: any two expression may be taken for finding p.}

Q-9 Find the scalar product of 31 -4J " and-210 + J. (2015-S) Solution:- (
3§-4). (=21 + J)=(3x(-2))+(-4)x1) =(-6)+(-4) = -10 Q-10 Find the angle
between the vectors 5 +3J + 4k and 6i-8J-k. (2015-W)

az




Solution:- Let d=5i +3/ + 4k and b= 6i-8J-k Let 6

be the angle between @ and b .
a, b, + ab, + azb,

0 =cos™ Y )
Then Jat+a,i+asz? ’b12+b22+b32

5.6+3.(—8)+4.(—1) 30-24—4 2

- -1 = -1 2 = -1
cos (J52+32+42J62+(—8)2+(—1)2) cos (mm) cos (@\/ﬁ)
Q-11 Find the scalar and vector projection of d@ on b where,
i=1 - ~ J-kand b=3i+J+3%. {2013-W ,2017-W, 2017-S}
donk = ab _ 13+(-DA+(-1)3 _3-1-3 _ -1
Solution:- Scalar Projection of 1b1 V32412432 V19 V19
L ab - 13+(=1)14+(=1).3 ,me, asnr
@gonb =—==b= —————— (3i+ j+3k
Vector Projection of 1b12 (V37+12437)2 (3t+) )
_3-1-3 pe aiary =1 an aian
s (3t+ j+3k) = e (3i+ j+3k)

Q-12 Find the scalar and vector projection of bond where,

G=31+J-2k and b= 2i+3J - 4% . {2015-S}

Lond = ab _ 324+134(=2).(-4) _ 64348 _ 17
Solution: -  Scalar Projection of lal V32H+124(-2)2 Vi V14
o L db s 32413+(-2)(-4) ~
bond =—=a=== — (31 +j-2k
Vector Projection of lal? (V3%+1%2+(-2)?)? ( J-2k)
17 jpes o
=1 (BH' J- 2k )

oy

Proof:- Given d.b = d.
© (@.b)-(@¢)=0 =>d.(b-¢)=0 {applying distributive property}
Dot product of above two vector is zero indicates the following conditions @ = 0
orb-¢ =6 or dl(b-¢)

=c or AL (b-&) (proved)
Example:-14 Find the work done by the force F=ot" J-k acting on a particle if the particle is displace A from

2 a=0or b

A(3,3,3) to B(4,4,4). Ans:- Let O be the origin, then
Position vector of A 04 =31+3" 43k
Position vector of B OB = 41+4" ] + 4k
Then displacement is given by, d = AB = (OB - 0A) = (4i+4J+ 4k) - (3i+3/+3k) = i+J+ k.
So work done by the force W = Fd =F. AB= (t+]- k). (i+7+ k)
=1.1+1.1+(-1).1 = 1 units




Example:-15 If @ and b are two unit vectors and 6 is the angle between them then prove that

L6 1. £
smz—zla by

~) 2 ~ ~ - - ~ =~
Proof: - (Ia- p° = (a-b).(a-b)=(aa)-(a.b)-(b.a)+(hb) { Distributive property}

=(Ial )2 (a.b)-(a.b)+(1b1 )? {commutative property}
=12-2a.b+1? {asaand b are unit vectors so their magnitudes are 1}
=2-24a.b=2(1-a.b)
=2(1-T1aL1b1cosh) { as 6 is the angle between @ and b }
=2(1-1.1. cosb)

28
=2(1—-cosf)=2 2513

0
Taking square root of both sides we have  la- bl =2 sin2

sin = 2a- b
1372 72 (proved)
Example:-16 If the sum of two unit vectors is a unit vector. Then show that the magnitude of their difference is V3.

Proof:-d,b and ¢ are three unit vectors such that @+ b= ¢

Squaring both sides we have, =>
@+Dab 2 &2 (j
i a )2 2

=(11 +(Ibl+2a4.b=12

=> 12+12+2T1allbIcosd=1 {where 8 is the angle between @ and b }

=>1+1+2cosf=1

=>2cosf = -1

= =1

=>cosf = >

Now we have to find the magnitude of their difference i.e @- b.

So (la-bD*=(1aD’+(1hN2-2ab=12+12-21a11h1 cosb
= = -1
—2—20059—2-2(2):2_(_1):3

~1a-b1=v3  (Proved)




ENGG.MATHEMATICS-II

Vector Product or Cross Product

If dand b are two vectors and 0 is the angle between them , then the vector product of

these two vectors denoted by a X b is defined as

[.17 Isin

where 7 is the unit vector perpendicular to
both dand b. As shown in figure-21 the =
directionofd x b is always perpendicular to =

both dandb.

<z

Fig-22

Properties of cross product

p— o
~—

Vector product is not commutative

xb#b xadii) For any two vectors dand b,

Qy

Qy

x b= -( b x a) iii) For any scalar m, m (
x by =(m@) Xb =d X (mb)iii) Distributive

X(b+2&)=(d xb)+ (@ x&) iv) Vector

Qy

Qu

product of two parallel or collinear vectors is zero.

@ xd=0 andif dIIA then @ xb=0 {asO=0or180°=>sin0=0}

Using this property we have,
ixi=JXj=kxk=0




ENGG.MATHEMATICS-II

v) Vector product of orthonormal unit vectors form a right handed
system. As shown in figure- 23 the three mutually
perpendicular unit vectors i, /, K form a right handed

system ,i.e. [XJ=k=-(J*0)

(as 8=90 , then sinf = 1) ®

~ o ~ T N/o
e xi=J=-(Ixk) / ’ -

X

2 ¢

Fig-23

Unit vector perpendicular to two vectors:- Unit vector perpendicular to two given vectors dand b is

da xb

. fi=——
given by Id xb1.

Angle between two vectors
Let 6 be the angle between dand b . Then @ xb=(14dL 1b1sinf) A

Taking modulus of both sides
we have, [a x° bl =14
1.1b 1 sinf

I=R%
S

X

I

I

sing =

(=

LI

="

9=sin‘1{|aXb|}

Hence 1gLIb1

Geometrical Interpretation of vector product or cross

product

Let OA  =a and OB=b.

Thend xb=(aL1bIsin) A
=(d1).(1b1sind)A

From fig-24 below it is clear that

N

d
BM=0Bsind=1b1sin6=1alIBMI A =
{ as sinf = BM/OB &OB = E} Fig-24

Now Id xbl=T1a1IBMI 141=0A.
BM = Area of the parallelogram with side d and b .

°}




Q.

ENGG.MATHEMATICS-II

Therefore the magnitude of cross product of two vectors is equal to area of the parallelogram
formed by these vectorsas two adjacent sides.
From this it can be concluded that area of A ABC = % IAB . ACI

Application of cross product

1. Moment of a force about a point (Jﬁ ) :-Let O be any point and Let 7 be the position vector w.r.t.
O of

any point ‘P’ on the line of action of the force F, tﬁen the moment or torque of the force F about origin
‘O’ is given by

M=% xF

2. Ifdand b represent two adjacent sides of a triangle then the area of the triangle is given by
A= %I a x EI Sq. unit

3. Ifdand b represent two adjacent sides of a parallelogram then area of the parallelogram is given by
A= Td xbl Sq.unit

4. If Eianc_i)E represent two diagonals of a parallelogram then area of the parallelogram is given by A
= ;I i a x bl Sq. unit

Vector product in component form : -

[fd =ayi +a,] + azgk and b = byi + b,] + b3k
xb=(ayi +ay +azk)x (byi +byj + bsk)
= ayby (DX B+ aby (1 X Jy + ayb3 (1 X ky+ azhy (J X Dyt azbz (J X Jy+ azbs(J x ky
+a3b](§xi‘)+a3b2(ﬁXj‘)+a3b3(§x]5
{ using properties X 1= ijz kxk=0,ixj=k=-J"%
(kxXPandkxi= J=-(Ixk)

N fxk = =.

b

= (azbz - azby) 1 +( azb; - alb;)f +(@1bz - azby )k

-~ -~

ik ek
a, dp, dsz d xb= a, a, das
by by b3| je. by by bs

Condition of Co-planarity

If three vectors d,band ¢ lies on the same plane then the perpendicular to d and b must be
perpendicular to C.

In particular (@ Xb)L¢ =>(@ xb) ¢=0
In component form if & = @18 + apf + agk,b = byl + by] + bsk gnd € = c1f + ¢5f + c3k

Then @ xb) ¢=0
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UNIT-11
LIMITS AND CONTINUITY

INTRODUCTION:-

The concept of limit and continuity is fundamental in the study of calculus. The fragments of this concept
are evident in the method of exhaustion formulated by ancient Greeks and used by Archimedes (287212 BC)
in obtaining a formula for the area of the circular region conceived as successive approximation of areas of
inscribed polygons with increased number of sides.

The concept of calculus is used in many engineering fields like Newton’s Law of cooling derivation of
basic Fluid mechanics equation etc.

In general the study of the theory of calculus mainly depends upon functions. Thus it is desirable to discuss
the idea of functions before study of calculus.

OBJECTIVES:-
After studying this topic, you will
be able to (i)  Define function and cited
examples there of (ii) State types of
functions.
(iii) Define limit of a function.
(iv) Evaluate limit of a function using different methods.
(v) Define continuity of a function at a point.
(vi) Test continuity of a function at a point.
EXPECTED BACKGROUND KNOWELDGE :-
(1) Set Theory
(2) Concept of order pairs.
RELATION:-

Definition : - If A and B are two nonempty sets, then any subset of AXB is called a relation ‘R’ from A to
B.

Mathematically R ¢ AXB
Since ® € AXB and AXB is a subset of itself, therefore @ and AXB are relations from A to B.
EXAMPLE:-1
A=1{12} p={a,b,c}
Then Ax B = { (1,a), (1,b),(1,¢),(2,3),(2,b),(2,¢)}
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Now the following subsets of Ax B give some examples of relation from A to B.
R1 = {(11 a)r (Zrb)}, R2 = {(Lc)}, R3 = {(21 b)} and R4 =
{(1,a),(1,0),(2,¢)} are examples of some relations.

A B

The above relations can be represented by figurel-4 as
follows.

R1 = {(11 a): (23 b)}

R2 = {(1' C)}
R3 = {(2- b)}
R4 = {(1! a)! (1, b), (21 C)}

Fig 4
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Example — 2
A = Players = {sachin, dhoni, pele, saina}

B = Game = {cricket, badminton, football}

Then R = player related to their games.

The pictorial representation is given in Fig-5

Badminton

Football

FUNCTION: -

A relation ‘f” from X to Y is called a function if it satisfies the following two conditions (i)
All elements of X are related to the elements of Y.
(i1) Each element of X related to only one element of Y.
In above example -1 only relation R, is a function, because all elements of A is related.
Each element (i.e. 1-a and 2-b) is related to only one element of B.
R» is not a function as ‘2’ is not related.
R3 is not a function as ‘1’ is not related.

R 41s not a function as 1 related a and b.

EXAMPLE - 2 represent a function.

EXAMPLE -4

Let us consider a function F from A = {1.23}to
B ={a, b, c,d}as follows.

Fig-©6

Here we can write F(1)=a
FQ2)=c
F3)=b
DOMAIN (Df)

Let F: XY is a function then the First set ‘X’ is called domain of F.
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X=Dom F = D¢

In example-4 {1,2,3} is the domain.
Co-domain —
If F: XY is a function, then the 2" set Y is called co-domain of F. In example -4 {a, b, c, d}is the
codomain.
IMAGE:- Iff: XY is a function and for any x€ X, we have f(x)E Y .
This f (x) =y €Y is called theimage of x.
In example -4 ‘a’ is the image of 1
‘b’ is the image of 3
‘¢’ is the image of 2
Range (Ry): -

The image set of ‘X’ i.e. domain is called range of F.

F(X) = Range of F

In example -4 {a, b, ¢} represent the range of F.

In above discussion we have taken examples of finite sets. But when we consider infinite sets it is not
possible to represent a function either in tabular form or in figure form. So, we define function in another
way as follows.

CONSTANT- A quantity which never changes its value. Constants are denoted by A, B, C etc.
VARIABLE:-A quantity which changes its value continuously X, y, z etc are used for variables.

TWO TYPES OF VARIABLE:- i) Independent variable ii) dependent variable

Independent variable Variable which changes its value independently .Generally we take ‘x’ as
independent variable.

Dependent Variable [ Variable which changes its value depending upon independent variable. We take ‘y’

as dependent Variable.

DEFINITION OF FUNCTION:-

Let X and Y be two non empty sets. Then a function or mapping ‘f” assigned from set X to the set Y is a
sort of correspondence which associated to each element x€ X a unique element y€Y and is written as

f: XY (readas“fmaps X intoY).
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The element ‘y’ is called the image of x under f and is denoted by f(x) i.e. y=f

(x) and x is called pre-image of y.

Example - Let y = F(x) = x> where X ={ 1,1.5,2}

Pictorial representation is given in Fig-7

Fig-7
Here values of x form domain and values of y form range.

FUNCTIONAL VALUE f (a)[’ The value of f (x) obtained by replacing x by a is called functional value
of f(x) at x=a, denoted by f(a)

Example :- Lety = f (x) = x?
Then functional value of f(x) at x=2is f(2)=2? =4

The functional value of f(x) at x=1.5is f(1.5) =
225 ' I = then f(1)= 1/1=1 . 2) = %. But f(0) =
1

0 which is undefined

So the function value of function is either finite or undefined.

Classification of function

Functions are classified into following categories

Into function

A function F : A 1 B is said to be into if there exist at least one element in B which has no pre-image in A.
In this case Range set is a proper subset of co-domain Y.

Let A= {1,2,3} and B= { a,b,c,d}

Then the function F given by fig-8 represent one into

function from A to B.

Fig-8 (Into Map)

In above figure d has no pre-image in A.




Onto function

A function F : A 71 B is said to be onto if Range of F i.e. F(A)
= B. In other words every element of B has a pre-image in A.
LetA={1,23,4} and B={ a,b,c,}

Then the function F given by fig-9 represent one onto function
from X to'Y.

One-one function

A function F: A [1 B is said to be one-one if each distinct
elements in A have distinct images in B i.e. if X1 # X2 in A
=> F(*1) # F(*2) inB.

Let A= {a,b,c} and B= { 1,2,3,4}
Then the function F given by fig-10 represent an one-one

function from Ato B .

Many-one function

A function F : A [ B is said to be many-one if there exists at
least one element in B, which has more than one pre-image
inA.

LetA={1,2,3} and B= { a,b}

Then the function F given by fig-11 represent a many-one

function from Ato B .

ENGG.MATHEMATICS-II

A B
F
1 } I a
2 » b
4
fig-9

(Onto Map)
From above figure it is clear that F(A) = B.

A B
E

one - one

Fig-10
A E B
1 —— N
= = a
2>
b
3

( Many one)
Fig-11

From above figure it is clear that a has two pre-

images 1 and 2 in A .
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One-one and onto function or bijective function A function

F B
F:A [ B issaid to be one-one and onto if it is one-one and
onto i.e each distinct element in A has distinct image in B and = -
every element of B has a pre-image in A. 55 b

A 4
e B
9]

LetA={1,2,3} and B= { a,b,c}

Then the function F given by fig-12 represent an one-one

and onto function from Ato B . ( One-one and onto)

Inverse function:- Fig-12

A
1
]
3
If F:X Y isabljective function then it’s inverse 5% Y
function defined from Y to X denoted by F~1 . Ifx € X and y =
€Y such that y= F(x) then x= F " (y). -

One example of inverse function is given in Fig-13 .

Let X={ab,c} and Y= {1,2,3}.

Composition of two function

Fig-13
Iff: XY andg:Y [JZbe any two functions having X g Y Y g z
Range f = Domain g, then composition of f and g denoted by ' '
gof is defined by g.f(x)= g(f(x)), x€ X. n l
Domain of gof = X and Range of g,f = Range of g. The gof gof
d

composition of two function f and g is shown

LM i
in fig-14. ‘ - f

Fig-14

Examples of some composite functions is given below

y = f(x) = sinx?
x%and sinx. y = f(x) = Vcotx formed by
composition of cotx and Vx

y = f(x) =108q s inVX formed by composition of Vx| sinx and

log, x Real Valued Function;-

formed by composition of

F : XY is called a real valued Function.
If domF=XcR and YcR.

Generally we discuss our topics on this type of functions.

DIFFERENT TYPES OF FUNCTIONS:-
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(1) CONSTANT FUNCTION :-
The function F (x) =K for all x € R, where K is some real number is called
a constant function
For Constant Function Dy=R
R = {K}
(2) IDENTITY FUNCTION :-
F(x)=x Vx €R, is called Identity Function. (¥ x means

for all x) It is also denoted by x or I.

Dom|= D|= R

R=R

(3) TRIGNOMETRIC FUNCTIONS :-
sinx, cosX, tanx, cotx, secx, cosecx are called trigonometric
functions. we know the defination of these functions.

We know that -1<sinx<I1 and -1=<cosx<1 ¥x € R. Here x is radian measure of an angle.

Function Domain Range
Sinx R [-1,1]
Cosx R [-1,1]
Tanx rA@n+1 )—72rr : n€z} R

Cotx R- {nm: n€z} R

Secx rA@n+1):n€Z) R-(-1,1)
Cosecx R- {nm: n€z} R-(-1,1)

(4) INVERSE TRIGNOMETRIC FUNCTIONS :-

_ -1 -1 -1 _ : . .
Ix, cos™1x,tan™ " x,cot™ " x, sec™ X cosec™'x are called inverse trigonometric

sin~
functions.
These are real functions.
Function Domain Range
] T
sin~Ix 1] 57

cos™x [-1,1] [0, ]
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tan~1x R (-=,7)
2’2
cot™Ix R 0,)
sec™x x<-lorx=1 Osyén,yiz
cosec™'x x<-lorx=1 _Zsys%,y¢0

(5) EXPONENTIAL FUNCTION (a%):-
An exponential Function is defined by F(x) = a* (a>0, a#1), for all x€R
Dr=R
Rr=R+
Properties

(1) a*¥Y=a*a¥

(2) @)y =av

(3) a*=1 ,<=>x=0

(4) If a>1,a*<a¥ if x<y

Ifa<l,a*>a¥ if x<y

(5) LOGARITHMIC FUNCTION
The inverse of a* is called logarithmic function.

f(x) =log .x (log x base a) is called the logarithmic Function.

Domf=R" ,R=R

PROPERTIES

(1) loga(xy) = log.x + logay

2) loga(>
(2) log (y)=logax—logay

(3) logax =0 <=> x=1
(4) log.a=1

(5) logax = (x#1)

1
Logy a
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(6) log.x = logpx.log,b
(7) loga x™ = pnlog, x
(8) log, Vx = %loga x

(6) ABSOLUTE VALUE FUNCTION OR MODULUS

FUNCTION (IxI) :- The function f defined by f(x) = [x|=,
—x  whenx <0

x whenx = 0
Is called Absolute Value Function.
Dr=r
R=R'U{0}
E.g. |5=5 (as 5>0)
|-2|=-(-2)=2 (as-2<0)
10/=0
13.7|=3.7
|-5.2=5.2

(8) GREATEST INTEGER FUNCTION OR BRACKET x ([x] ) : -

The greatest integer Function [x] is defined as

[]_{x ifxeZz
T ifxeZandn<x<n+1lwhereneZ

Example

[2]=2 (as 2€ %)

[0]=0 (as 0€ Z)

[2.5]=2 {as 2.5 € Z and 2.5 lies between 2 to 3 i.e.2 < 2.5 < 3}

[-1.5]=-2{as —2<-15< -1}
[V3]=1 {asl<V3<2}
[-e] =3 {as2<e<3 =>-3<-e<-2}

Dom[x]=R and Range [x]=Z
Functions are categories under two types as follows

(1) ALGEBRAIC FUNCTION (Three types)
i) Polynomial P(x) = ap+a;x----------- +apX

E.g F(x) =x*+2x+3, F(x)=3x+5¢

P(x), _ @t X+——————————— +apx
(ii) Rational Function ¢®° bo+bix+——————————- +bpx™
x x242x45

E.g. x2+1 3x+1  are rational functions.
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iii) Irrational Function {P(x)} P4 e.g WV, (+2x+1) o

2) TRANSCENDENTAL FUNCTION
Trigonometric, logarithmic, exponential functions are called transcendental functions.
Again there are following types of functions as follows.

EXPLICT FUNCTION

y=f(x) i.e. if y is expressed directly in terms of independent variable x, then it

is called explicit function .

Example y =
x? y=
2x +1 etc.
IMPLICT FUNCTION
Function in which x and y cannot be separated from each other (i.e.) F(x,y) = 0
is called implicit Function.  E.g. [ x*y’=1 X H2xy+3x%y* =7

are examples implicit functions.
EVEN FUNCTION:-
If f(-x) = f(x), thenf(x) is called even function.

Example f(x)=cosX

f(-x) =cos (-x) =cosx
=f(x) Hence f(x) = cosX is an
even function Similarly f(x) = x?, x*--------

------ are even functions.

ODD FUNCTION:-

If f(-x) = -f(x), then f(x) is called odd function.

f(x) = sinx, x, x>, are example of odd functions

INTRODUCTION TO LIMIT:-
The concept of limits plays an important role in calculus. Before defining the limit of a

function near a point let us consider the following example

x2-1
Let F(x) = x-1
1°-1 _ 0
Now F(1) = 1-1 ~ o undefined

But if we take x close to 1, we obtain different values for F(x) as follows

TABLE -1
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X 0.91 0.93 0.99 0.9999 0.99999

F(X) 1.91 1.93 1.99 1.9999 1.99999
TABLE -2

X 1.1 1.01 1.001 1.00001 1.000001

F(X) 2.1 2.01 2.001 2.00001 2.000001

In above we can see that when x gets closer to 1,F(x) gets closer to 2.however,in
this case F(x) is not defined at x=1,but as x approaches to 1 F (x) approaches to 2.

This generates a new concept in setting the value of a function by approach
method.

The above value is called limiting value of a Function.

SOME DEFINATIONS ASSOCIATED WITH LIMIT:-

NEIGHBOURHOOD:-

For every a€R, the open interval (a-8, a+d) is called a neighborhood of a where §>0

is a very very small quantity.

Example (1.9,2.1) is a neighborhood of 2. (6 =0.1)

DELETED NEIGHBOURHOOD of ¢a’:-

(a-8, a+d)- {a} is called deleted neighborhood of a.

Left neighborhood of a is given by (a-6, a) .
Right neighborhood of a given by (a, at+d).

Example

(1.9.2.1)- {2} is a deleted neighborhood of 2.

(1.9, 2) is left neighborhood of 2.

(2, 2.1) is a right neighborhood of 2.
DEFINATION OF LIMIT:-

Given €>0, there exist >0 depending upon € only such that, |x-a|<d =>|f(x)-]|<€

Then limy_q f(X) =]
EXPLANATION
If for every €>0,we can able to findé ,which depends upon €only such that x€ (a-8,a+6§ ),=>

f(x) €(1-€,]+€) .  In other words when x gets closer to a then f(x) gets closer to 1.

We read x[|a as x tends to ‘a’ i.e. X 1S nearer to a but x#a
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limy_q £(X) limit x tends a f(x). ‘I’ is called limiting value of f(x)at x = a.

x2-1_
m; .y -1 -

In 1% example I
i.e limiting value of f(x) at x=1is 2.
Note:-
Functional value always gives the exact value of a function at a point where as limiting
value gives an approximated value of function.
Functional value is either defined or undefined. Similarly limiting value is either exist or
does not exist.
EXISTENCY OF LIMITING VALUE:-

In our first example if we observe table -1 then we see we approach 2 from left in that
table.

In table -2 we approach 2 from right.

So in table -1 x€ (2-6,2)

And in table -2 x€ (2,2+9)
These two approaches give rise to two definitions.
LEFT HAND LIMIT

When x approaches a from left then the value to which f(x) approaches is called left hand limit
of

f(x) at x=a writtenas L.H.L.= lim, .- f(x)
X[ la-means x (@ — 8,a),

RIGHT HAND LIMIT: -
When x approaches a form right then the value to which f(x) approaches is called right hand limit.

Mathematically
RHL= , 4 fx

x[]a” means x€(a,at+4)
EXISTENCY OF LIMIT

IfL.HL=R.H.Li.e.

Then the limit of | lim, , f x =lim, o f x =1 the function exists and
lim, ., f(x) =)

Otherwise limit does not exist.
ALGEBRA OF LIMIT: -
IFlimy g f(X)=1and limyoa9(x)=m
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Then

1) lime o {f(x) + gx) } = limyq f(x) +
limyq 9(¥)=1+m i) ) My { F () - g(x) } =
limy o () - limy o g(x)=1.m iii)limx—m{f(x)

Lg(x) } =limy g f(x) limy L, g(xX)=1m
Fx) } = limy o f(x) L

iv)) lim, 4 { g(x) limy_q g(x) m (provided m#0)
V) lim,, K=x (K is constant)
vi) imy ok f(x)= g limyeq f(0)=K |
(Vii)lim x—a 108p f(x)  =logp lim, ., f(x) = log |
Vi) limyq (= glimesa f0) —!
(ix) limy,, f()" ={]imx—~a fE)} =
(x) NMyog f(X) =limyq f(V) =

(xi) limyq |f(x) |= |1imx—>af(x)| = |1|
) 1
(xii) Iflimyq f(x) = ©, then limyq flx)

EVALUATION OF LIMIT:-
When we evaluate limits it is not necessary to test the existency of limit always. So in this
section we will discuss various methods of evaluating limits.
(1) EVALUATION OF ALGEBRAIC LIMITS :-

(2) Method -> (i) Direct substitution (ii) Factorisation Iii) Rationalisation

i)  Direct Substitution :-
If f(x) is an algebraic function and f(a) is finite. Then limyq £(X) is equal to f(a)
i.e. we can substitute x by a.

Let us consider following examples.

Example -1
Evaluate limy o(x* + 2x + 1)

ANS
limyoo(x% 4+ 2x 4+ D= 0242x0+1 = |

Example -2
. x—1
Evaluate lim,, x2+2x—1

ANS[!
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. x-1 (-1)-1 e e
limy— x242x—-1  (-1)2+42x(-1)-1  1-2-1 -2 1
Example — 3
. Vx
Mz G-
Ans :-

i Vx V11

M1 752 Vi V3
Example -4

lim x*-1_1°-1_0

Evaluate X>1 y—1 7~ 1-1 ~ 0 ,Which cannot be determined.

NOTE: -

So here direct substitution method fails to find the limiting value. In this case we apply following method.

ii) FACTORISATION METHOD :-

JAC)) @ 0
If the given Function is a rational function 9(x) , and 9(@) isin 0 form then we apply factorisation method

i.e we factorise f(x) and g (x) and cancel the common factor. After cancellation we again apply direct
substitution, if result is a finite number otherwise we repeat the process .

This method is clearly explained in following example.

Example -4
li x%-1
Evaluate =171
. -1 .. (x+1)(x—1)
Ans : —hmx_u: = limye-y (x=1)

M xHD) x0T means x#1 => (x-1) £ 0}
=1+1=2 {after cancellation we can apply the direct substitution}
Example -5

lim x24+7x+12
Evaluate — *773 x2+5x+6

ANS :-

2

lim X +7x+12 0
X2=3 x245x+6 {by putting x=-3 we can easily check that the

question is in o form }

- i 22 4+4x+3x+12

B s T e

x(x+4)+3(x+4)

x(x+2)+3(x+2)

(x+4)(x+3)

(x+2)(x+3) {x[1 -3 then x+3 # 0}

(x+4) —3+4 1

lim,,_3——= = =— =-1
*¥2-3 (x42) —3+2 -1

= lim,,_3

limx4_3

iii) Rationalisation method :-
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When either the numerator or the denominator contain some irrational functions and direct substitution gives
0

o form, then we apply rationalisation method. In this method we rationalize the irrational function to
0

eliminate the o form.This can be better explained in following examples.
Example -7

. X
Evaluate lim Vriti-1
ANS :-

. X
lim,e o Vx+1-1 { In order to rationalize VX + 1 — 1 we have to apply a? = b? formula

a’? —b? = (a+ b)(a— b)so herea — b is present, so we have to

multiplya+bi.e.vx+1+ 1}
. x(Vx+1+1)
=lim,_,g
Vr+1-1)(Vx+1+1)
x(Vx+1+1)

lim,_,o 7.
x+1 —12

i x(VXF1+1) - i
My—o =y = Mx—o

X
limeo(Vx+1+1) = vO+14) = 141=2

x(Vx+1+1)

(3) _Evaluating limit when x-> o

In order to evaluate infinite limits we use some formulas and techniques.

Formulas (i) liMy—e x" =, n>0
. 1
(Il)llmx—;m EI 0 , n>0

G
When we evaluate functions in 9*) form , the we use the following technique

Divide both f(x) and g(x) by x* where xkis the highest order term in g(x).

It can be better understood by following examples.

Example — 9
li 3x24x-1
Evaluate Px~% %22 7018
lim 3x%+x—1
ANS:- X2 ox2_7x+5

{Dividing numerator and denominator by highest order term in denominator i.e. x*}
3x2+x-1
. 2
- X
= limy e, 2x2-7x+5
x2
ax? x 1
22 X2 X2
2x2 7x | 5
2 X2 X2

= lim,_

1 1
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limy e 3+limx_,.,ox - limx_,;,ox2

: R 7 : 5
1Moo 2=limysooy HliMxooo 3 (applying algebra of limits)

_ 3+40-0_3
T 2-040 2
Important note in oo limit evaluation:-
2 ifm=ng"
. agta x+—————— +a,x™ by,
limysco bo+by X+b,x2 ————— tbhpen . 0 ifm<n

Example-13
L _ax—b ) = 2, find the values of a and b.

g Moo (J;T
o (5 0x 1) =2

xz—l—axz—ax—bx—b) ->

Solution -> Given

o lim o
lim xz(l-a)-x(a+b)-(b+1)= 2
X—00 x+1
As result is finite non zero quantity
=  Degree of numerator polynomial = degree of denominator polynomial

= | Degree of polynomial in numerator = 1

{As x+1 has degree = 1}

a-=1

= l-a=0 =>

Now putting a = 1 in above evaluation
—x(1+h)=(b+1) _

lnnxﬁw x+1
—@+m__2
= 1 {by important note}
. Ayt X———+apx™ _ am _
N D {limy_,o, bytbyxt———tbox by where m = n}
=> | b=-1-2=-3

Therefore a=1 and b=-3

(4) Important Formulas in limit

(1) lim,u 2=% = pgn-1
Myq =7 =NA where a>0 and n€R

. a*-1
(2) lim,_q — = Iogéa
e¥—1

In particular limo =1
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1
(3) limx—)()(l + x)EZ €
(4) limoo(1+ "

loga(1+x)

(5) limy_o =logs e

. log.(1+x)
In particular lim.g =loge e =1

(6) lim,gcosx=1

(7) lim,_qsinx =0

sinx

(8) llmx_,o =1
(9) lim, o =5=1
SUBSTITUTION METHOD:-

In order to apply known formula sometimes we apply substitution method. In this method x is replaced
by another variable u,and then we apply formula on ‘u’.

Let us consider the following example.

Example — 14:-

li sin2x
Evaluate " 1x~0 "
ANS:- Let 2x=u => when x[10
U o (as u = 2x)
> .
Now lim,._q sin2x _ lim, o —— siu _ lim,,_g Slzu
2
=2%x1=2
f Ax y fu

In general
Putting Ax=u - « fx

Hence some of the formulas may be stated as fllows

lx
1) llm,HO o Iog
e¥_1

In particular im0 =7
1
2) limy (1 + AX)7 — o
. 1
3) limy (1 +0M _,

: logg (1+A
4) llmx_,o%;x) =log, e
. loge(1+Ax)
In particular B e
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lim tanAx _ 1
6) 20 g

Some examples based on the formulas

sin 3x
x-0 tan 5x

(1) Evaluatelim

Ans :-

. 3sin3x

li S03% ~ lim X
x—0 tan Sx x—0 5tansx

5x

51111
3X.
_ 3. () 3.1_3
= sliMeommss = gX7=5
5x
lim 1-cosx
(2) Evaluate — *70 2 (2014 S)
. X
li 1-cosx _ . 2sin’;
Ans M0 = M0 =5
sin®  sinZ 1 sin= sinZ 1
= limx_,o 25_225_2 = Ellmx_;o T fz =E l
2’ 2 2 2 X1x] = 2
Exercise

1. Evaluate the following limits(2 marks)

. Vvx+1 -1
lim,_o———

sin bx (a;b#0)
(i) M0 Gy

2. Evaluate the following limits (5 marks)

lim 21
(1) ¥ k-1

(i) lim, s 212
xX—5 X—5

1

. xm—1

(i)  limy_; —5—
xn—1

13423+3%+..4n2

(1v)  limye =

(v)  lime e x*{(Vx* +a? —Vx* —a?}

. : Vitx-Vi—=x
(Xll) ]lmx_.o -
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(xiiD)  limyno S0
. . €052Xx—Cc0S3x
2016-5) KiV)  limyo——5—=
(2017-S)

(xvi) 1Mx-0 = (2017-w)

Continuity and Discontinuity of Function In the
figure we observe that the 1% graph of a function in Fig-
1 can be drawn on a paper without raising pencil i.e. 1%

graph is continuously moving where as Fig -2

represents a graph , which cannot be drawn without

raising the pencil. Because there are gaps or breaks. So,

it is discontinuous.
Fig-1

The feature of the graph of a function displays an important property of the function called
continuity of a function.

Continuity of a Function at a point

Definition — A function f(x) is said to be continuous at x = a, if it satisfies the following conditions
(i) limyeq f(%) exists.

(i) f(a) is defined i.e. finite

(i)  limyq f(X) = fla)

If one or more of the above condition fail, the function f(x) is said to be discontinuous at x= a.

Continuous Function

A function is said to be continuous if it is continuous at each point of its domain. Working
procedure for testing continuity at a point x = a
1% step — First find limy_,q f(x) by using concepts from previous chapter.

Iflimy,4 £ () does not exit then, f(x) is discontinuous at x = a.
Iflimyq f(x) =1, then go to 2™ step.

2" step — Find f(a) from the given data

Fig-2
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If f(a) is undefined then f(x) is not continuous at x =a.

If f(a) has finite value then go to 3™ step.
3rd step — Compare [1Mx—q f(X) and f(a)

Iflimyq f(X) = f(a), then f(x) is continuous at x= a, otherwise f(x) is discontinuous at x = a.

Examples
Q1. Examine the continuity of the function f(x) at
2_
{x > x #3
x—3
x=3. f(x) = 6 x=3
Ans:-
. _ . x%2-9 _ . (x+3)(x-3)
limy,z f(x) = lim—— = lim="—==

= lmGe+3) 5 5 {AsX ' 3,x#3 => x-3#0}

From given data f(3) = 6
Now from above liMy—3 f(X) = £ (3)
Therefore, f(x) is continuous at x = 3.

Q2. Test continuity of f(x) at ‘0’ where,
{(1 +3x)f x#0
fix) =\ &3 x=0

Ans:-limx"’o f(x) = chiil‘(l)(l + 3x)*

L3
= lim (1 + 3x)ax

x—0
.3
=  lim {(1+3x)sx}
x—0
= 13
= {lim(1+ 3x)3x }
x—0
= &
As | *
{As chlL%(l-l-x)x: .
1
i Ax
Ll_r)%(l + Ax)Ax_ .
1
In particular }Cl_rg(l 3%y e and

we know, limy o {f ()} = {
limyq f(x) 3

From given data f(0) = ¢*
Hence, limx—o f(x) = £(0)
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Therefore, f(x) is continuous at x = 0.

Q3. Test continuity of f(x) atx =0

x|

{ ?x =0

fy=l0" x=0
. o

Ans. fim,e o /(%) = }cl—rftl) x

As [x| is present and x[10, so we have to evaluate the above limit by L.H.L and R.H.L
|x]

limeo- = {x00 =>x<0 }

method L.HL =
. —-X
= llmxﬂo—T

= ]imXﬂO_(_l) = (-1

. 1
RHL = M0t (x 0" = x>0}

= limygr= = lim, o+ (1) =1
Hence, LH.L#AR.H.L
Therefore, f(x) does not exist.

Hence f(x) is not continuous at x = 0.

UNIT-II1
DERIVATIVES
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Introduction

The study of differential calculus originated in the process of solving the following three problems

1. From the astronomical consideration particularly involving an attempt to have a better
approximation of 7 as developed by Bhaskaracharya, Madhava and Nilakantha.
Finding the tangent to any arbitrary curve as developed by Fermat and Leibnitz.

Finding rate of change as developed by Fermat and Newton.

In this chapter we define derivative of a function, give its geometrical and physical interpretation

and discuss various laws of derivatives etc.

Objectives

After studying this lesson, you will be able to:

(1) Define and Interpret geometrically the derivative of a function y = f(x) at x = a.

(2) State derivative of some standard function.

(3) Find the derivative of different functions like composite function, implicit function using
different techniques.

(4) Find higher order derivatives of a particular function by successive differentiation method.

©

(6

Determine rate of change and tangent to a curve.

Find partial derivative of a function with more than one variable with respect to variables.

)
)
)
)

(7) Define Euler’s theorem and apply it solve different problems based on partial differentiation.

Expected background knowledge

1. Function

2. Limit and continuity of a function at a point.

Derivative of a function

Consider a function y = x?

Table-1
X 5 5.1 5.01 5.001 5.0001
y 25 26.01 25.1001 25.010001 25.00100001

Let x =5 and y = 25 be a reference point

We denote the small changes in the value of x as '§x”,
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6x = small change in x §y = change in vy,
when there is a change of §x in x.

8y
Now, sx is called Increment ratio or Newton quotient or average rate of change of y.

Now, let us write table -1 in terms of dx, 8y as

Table-2
5x 0.1 0.01 0.001 0.0001
Sy 1.01 0.1001 0.010001 0.00100001
ﬂ 10.1 10.01 10.001 10.0001
8x

From table-2 Y varies as 8x varies

It is clear from the table when 6x s
0 =23 10
Sx
8y o0 and

sy
This sx when 6x[ 0 is the instantaneous rate of change of y at the value of x.

dy .
In above case x =5, so 7 ax=5is10

Definition of derivative of a function (Differentiation)

If y = f(x) is a function. Then derivative of y with respect to x is given by

dy
dx is also denoted by f'(x)

— = =f'(x)=f"
are same notations

Process of finding derivatives of dependent variable w.r.t. independent varibale is called
differentiation.

Derivative of a function at a point ‘a’

Derivative of y = f(x) at a point ‘a’ in the domain Dr is given by
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- ]x=a= f '(a) =

Example -1

Find the derivative of f(x) = x%?atx =5

Ans. b5 = 1 (5) = iMoo LS
= “mh—m%
= limy,_o Wﬂ
= limy,_ (10+h)h _ limy.g (10 4+ ) = 10
dy

Geometrical Interpretation of dx

Y
. Qix+ éx.y+ d&y)
(Fig.-1) i
PM = y
QN =y + &y
PS=6x
Qs= 8y
+ Oy
v
X' X
o™ X M N
h x+ 6x -
OM=x
Y ON = x+ 6x

Let f(x) is represented by the curve in fig-1 given above.

Let Q(x+6X,Y + 8Y) be the neighbourhood of P(x,y). PM and QN are drawn perpendicular to
Xaxis.

PSL QN
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Let QP Secant meets x-axis, (by extending it) and P make angle # with x-axis then angle
QPS=¢6

9=E_5}’

In AQPS, tan PS ~ &x
AsQN=y+0Y, NS=PM=y

=>QS=QN-NS=9Y.

Similarly, ON = x+dx and OM =x =>PS = MN = ON - OM

= dx When 6x —0 then Q—P and QP secant becomes tangent at

In PQS g% { gives slope of PQ line} A
T ox

We know

P.

Now when éx — 0 the line PQ becomes tangent at P

So,

dy _
=5 - N0 — glone of the tangent to the curve at P.

So derivative of a function at a point represents the slope or gradient of the tangent at that point.
Example 2

Q. Find the slope of the tangent to the curve y = x% at x = 5.

Ans. As we have done it in example — 1.

dy _
Ds =10

Therefore, slope of the tangent at x =5 is 10.

Derivative of some standard functions

a4
1. dx(c) =0
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2 4 (x™)=n.x™?!

dx
4 gx =a* A (px = eX a = 4
3. dx (a®) = a”log. a In particular dx (e)=e 4. In particular dx (loge x) dx
d _ 1 1
dx (logg x) = x logea (Inx) =x
d , . _
= (sinx) = cosx 5.
4 (cosx)=-sinx 6
- (cosx sinx .
4
7. dx(tanx) = sec’x
d
8. dx(cotx)=-cosec *x
d
9. dx(sec x) = sec x.tan X
10. 2

dx(cosec X) = - cosec X. cot X

i A = 1
11.dx(51n x)

V1-x2
da -1 — 1
12. = (cos™tx)=- —
13. L (tan1 x) = —
"dx 1+x2
4 “1,y=__1
14. = (cot™ x) = Ton?
15. = (sec™ x) PN ey
i -1 = - 1
16. = (cosec™ x) PNz

Algebra of derivatives or fundamental theorems of derivatives

If f(x) and g(x) are both derivable functions i.e. their derivative exists then,

d
(i) dx{cf(x)} =c f'(x)
d
(i) dx(f+g)=f'+g¢g
d
(”I) a(f_ g):fv_gv

. d

M Tty =fe+ g
4 fy_fE-fE

v) dx { g} g°

Example-3

Find the derivative of the following:




ENGG.MATHEMATICS-II

(i)3x3 (ii) 6Vx (iii) 9 3* (iv) 5 cot x
Ans.
dy _ d 3y _  d(x?)
(i) dx - ax OXT) T 3T 33 4312 g2
dy _d(6vx) _ nd(VX) _ ~ d 1 ll_]_ l;l—i
i)y ax @ O @ OnpWEbyxr =6ixz =g

iy L=2CT-9d8)-g3x)y3

2 2

d(5cotx) - d(cotx) —

(iv) - 5 - 5 (- cosec®x) = - b cosecx

Derivative of a composite function (Chain Rule)

Composite function
A function formed by composition of more than one function is called composite function.
Example of composite functions

1) sin x? is form by composition of two functions, one is sin x function and other is x2.

y=sin x? = sinu where u = x?

2) Similarly y = Vx? + 3x + 1 is written as

y=\/awhereu=x2 +3x+1

3) Y=+ sin(x? + 1) s form by composition of three functions. y = Vi where u = sin v and v = (x2
+1)

Chain Rule

If y = f(u) and u is a function of x defined by u = g(x), then

Generalized chain rule
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Ify is a differentiable function of u, u is a differentiable function v, ..... and finally t is a differentiable
function of x. Then

Example — 9
Q
Find dx
(i).y=0*+2x—1)° (i) y = cot3x
Ans.

(i) y=@*+2x-1)°

Here, y=u’andu=x?+2x — 1

du @y _g. 4
ar=2x+2=2(x+l)and ax 2Y
dy _dy du

dx  du dx

=5u*2(x+1)

=10 (* +2x = 1* (x41)
(ii) y = cot3x can be written as y = u®
where u = cot x
du _ 2, Y _n 2
= cosec™x, —= 3u

=-3 cot?xcosec?x

Methods of differentiation

We use following two methods for differentiation of some functions.

(i) Substitution

(i) Use of logarithms

Substitution
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Sometimes with proper substitution we can transform the given function to a simpler
function in the new variable so that the differentiation w.r.t to new variable becomes easier.
After differentiation we again re-substitute the old variable. This can be better understood

by following examples.
Note

When we apply substitution method, then we must have proper knowledge about
trigonometric formulae. Because it makes the choice of new variable easy. If proper
substitution is not made, then problem will be more complicated than original.

Example —15
_1Vaz+x? dy
1o T2 =2
1ty =5 ("% then find ax
Ans.
Sec_l(ﬂ)
y = a Putx=atan 8
- Sec_l(w/a2+a:tan29) - Sec_l(\faz(l-:‘anzm)
2 2
— Sec_l(\m sec 9) — Sec_l(asecf?)
a a
— —1 %
_sec”l(secO)—g TtanT ()
Do pan 1 (fh=—L (X
dx dx {tan (a)} 1+(§)2 dx (a)
Now a
=1 4y =1_1_
(1 +g) (a) a L;zxz
_ a? _ a
T a(x?+a?)  x?+a?
Example — 16
,  sin?(cot™! |22
Differentiate 1I=%) w.rt x. [2018-
S] Ans.
sin®(cot™! ’ﬂ _coslx
y = ( 1-x) {Put x = cos 0 =0 7 )

= in? -1 [ l4cos28\ _ . 2 -1 |2cos?@
sin“(cot /(l_msze)) sin“ ( cot 25in0)
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— sin? (cot™1cot20 ) =sin®cot™!(cot 8) = sin2p

d ,cos™?! x)
2

-1 ) = V1-cos?26
2v1-x? 2V1-x2

Differentiation using logarithm

When a function appears as an exponent of another function we make use of logarithms.
Example — 18
Differentiate (sin x)"*

Ans.

y= (Sil’l x)tanx
Taking logarithms of both sides we have,
Iny = In(sin x)tan*
=Iny=tanx. Insinx

Differentiating both sides w.r.t x, we have

1d 1 i
= -2 = tanx—— . cosx + sec?x. Insinx
ydx sinx

1d . .
= ——i’ =tanx . cotx + sec?x. Insinx = 1+ sec?x. Insinx

d .
= d_:; =y (1+sec?x. Insinx)
ay _

Hence dx (sinx)®"* (1+sec?x. Insin x)

Example — 19

Differentiate y
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y:

Taking logarithm of both sides
3
= Iny=In(x—1)> +Inv3x — 1 -Inx7 - In(6 — 7x?)z {as log ab=log a+logb&log% = log a-log b}

) 3
=>nhy=2In(x—-1) + 7In(Bx — 1) - 7Inx -5 (6 — 7x2){ as Inx™

=n Inx}
Differentiating both sides w.r.t, we have
ldy _ 2 d(x-1) 1 1 dB3x-1) 7 _3 1 d(6—-7x%)
ydx x-1 dx 2(3x-1) dx x 26-7x* dx
-2 .3 7, 3049
x—-1 2(3x-1) x 2(6-7x2)
2, 3 7, 21x
1 2(3x-1) x 6-7x2
Ay r 2, 3 7, 21
dx y [ x=1 2(3x-1) x 6-7x2]
(x 1)%/3x-1 [ i 3 7 21x
dx x7(6—7x2); -1 2(3x-1) «x 6—7x2]
(Ans)
lﬂ - 1 dl} _ . -1
= (x log (In X))()) and 72 - Ir (xlog(sm x))
lﬂ 1 dv =y 1 1
S uax [x Inx x+ 1.log (Inx)]and vax “sin-1x “vi—xz  + 1. log(sin™'x)
du _ 1 dv — x -
= II’[ln x+ log (In x)] and dx v[sin‘lx\/l—xz * log(sin™1x)]
du d X X |
:> = (Inx)* [lnx+ log (In x)] and dx = (sin™" x) [sinﬂxﬂ—xz * log(sin™x )]
v_4 = du dv
NOW, dx ( + ) dx + dx
= (Inx)* [ — (sin"! x)* [——— + log(sin1x
Inx+ log (In x)] + sin~1xv1-x2 )] (Ans)

Differentiation of parametric function

Sometimes the variables x and y of a function is represent by function of another variable ‘t’, which is called
as a parameter. Such type of representation of a fnction is called parametric form. For example equation of
circle can be given by x =rcos t, y =rsin t.

Here x, y both are functions of parameter ‘t’.

So, this form of the function is called parametric form.
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Differentiation of a function w.r.t another function

Example-28

Find the derivative of tan X w.r.t cot X (2017-w)

Ans.
Let y =tan x and z=cot x
d dz
2 = sec?x , 22 = - cosec?x
dx dx
dy
d ) sec’x ,
= = — - =-sec’xsin’x aeany) _ _ sec2xsin’x
dz (55) —cosecix d (cotx
Now, dx ,Hence d (cotx)
Example - 29

Find the derivative of e2198% wrt2x2  [2018-S, 2017-w]

Ans.
y =e?198% and 7 = 2x2
ay _ 4 ,2logxy = 4 logx?y = 4,2
dx dx dx dx = 4LX
(2108%) = (elor) = L2 )
dz

az _ @ 2
dx dx(zx)=4x

dz, _2x _1

dy _ dy
2z @) T T2

Hence dz

Differentiation of implicit function

Functions of the form F(x,y) = 0 where x and y cannot be separated or in other words y cannot be
expressed in terms of x is called Implicit function.

eg x2+ 2 ¥V -25=0

x¥ = y*

Y4y x4 xy=25  etc

Derivative of Implicit functions can be found without expressing y explicitly in terms of x. Simply we

ay
differentiate both side w.r.t xand express dx in terms of both x and y.

Example — 34

ﬂ
Find dx when x3+Y 3- 3xy =0 [2015-S]

dx




Ans.
Given x3+Y 3- 3xy =0
Differentiating both sides w.r.t x We have,

2 24y o, 4V
x4 3y e X 3y =0

3

2 _
ax Y 3x) =3y - 3x?

dy _ 3y—-3x? _ y—-x?

(Ans)
Example — 36

@y

if v¥ =xY
Findax 1Y =%

[2014 ¢ 5016-S, 2017-w]

. X
Ans. Given Y™ =xY

Taking logarithm of both sides

=Iny* =nxY
=2xIlny=ylnx

Differentiating both sides w.r.t x, we have

1dy dy 1
ydx+1.Iny=dx.lnx+y x

x dy Q+Z

yaxtIny=Inx dx x

d
G-Inx)g =Gy
x=ylnx, dy _ y=xIny
—) — =L = 7

:>( hY% dx x

d —xIn
NG Y)

dx x(x-ylnx)

L4y _y=xIny)
dx x(x-ylnx)

Example — 37

Y i 1,2
Find dx ify cot x=x2coty

2
Ans. Y cotx =xZ%coty

Differentiating both sides w.r.t x,

dy
Lo 2
2Y Gx cotx+Y (- cosec®x)=2x coty +

d
2(—coseczyd—z)

ENGG.MATHEMATICS-II
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ay 2 2 2 2., a4y
=2ycotx ar 7 CO%€C X —oxcoty-F €O%€C Vi

d
2 2 Y

— 2 2
:(2}/ COtX+x cosecty dx =2X Coty—|—y cosec x

dy _ 2xcoty+ y?cosec?x

dx 2ycotx+ x?cosec?y

Successive Differentiation

If f is a differential function of x , then the derivative of f(x) may be again differentiable w.r.t x. If

00 =5 then f
f " dx then f (X)is called first derivative of f.
; df’(x) =f”(X)
If f'(x) is differentiable , and ~ ax , then f (x) is called the 2™ order derivative of f(x)
w.r.t X.

The above process can be successively continued to obtained derive functions of higher orders.

Notations

dy
1% Order derivatives _ dax, y,vi,Dy,f ()

d*y
.. i 2
27 Order derivatives  dx? Y, y2, D Y. f7(x)

d3y
. — 3
31 Order derivatives — dx? Y7Ly, D7y (%)

o (i R —
n™ Order derivatives dxn ,y™ y,, D"y fl(x)

Example — 1

Find 2™ order derivatives of following function.

(i) y=x5+4x3-2x2 +1 (i) y = 108e X
1
(i) y=vx? +1 (iv)y = Vx

)y T Tt a2 41) = xiH12xiAxt0

=5x*+12x%4x
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d? d ,dy d 4 P
— (=) = — + -
dx? dx dx) dx(sx 12x

=20x3+24x -4 (Ans)
d 1
(i) y' T a08eX) =y

4x)

d a3
y 2=%—?——— (ans)

(i)  y=vxZ+1
L2 (x241
y1 2Vx24+1 dx x
2x+0 — x
V241 Vxi4l

) (Chain Rule)

d X
_dyi _ (v'x2+1)

s = —==

y dx dx

, 1 dxP+1)
1Vx2+1 —x .
= 2/x241  dx

(Vx2+1)? (applying division formula of derivative)

JEz+e1) - — X2 2x
- ( ) 27/x%+1

xZ+1

—_(x?41)-x? _ 1
VxZ41 (x2+1) (x2+1)3/2 (Ans)

Example — 2

Find y; and y; if y = log(sin x) (2018-S) Ans.

_d
Yy 17 ax lOg(Sln X)= SmeO.S‘x = cotx
=W _ 4 =-
V2" ax (cotx) cosec? x( Ans)
Example - 3

d?y
If x = at?, y = 2at then find dx? Ans.

d d
ay _ Gp _ z2at) _2a _1

dx. d .
dx (E} d_t(atz} 2at t

d?y _ d dy d dy, dt

Now dx? E(dx) - E(dx) dx
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d 1 1
_z® _ 2 1
dx 2at 2at3

Partial Differentiation

The functions studied so far are of a single independent variable. There are functions which depends on two
or more variables. Example, the pressure(P) of a given mass of gas is dependent on its volume(v) and
temperature (T).

Functions of two variable

A function f: X x Y to Z is a function of two variables if there exist a unique element z=1(xy)inZ
corresponding to every pair (x,y) in X x Y.

Domain of fis X X ¥ .

fXXY) jstherange of f. {fXXY) Cz}
Notation : - z = f(x,y) means z is a function of two variables x and y.
Limit of a function of two variable

A function f(x,y) tends to limit 1 as (x,y) [ (a,b), .If given € > 0, there exist §> 0 such that |[f{x,y)-/ | <€
whenever o <|(x,y) — (a,b)| <6 .

Continuity

A function f(x,y) is said to be continuous at a point (a,b) if

(i) f(a,b) is defined
(i) limGey)=(@b) [ (%, 3) exists.
iy iM@y)-@p f(xY) = f(a,b)
Finding limits and testing continuity of functions of two variable is beyond our syllabus so we

have to skip these topics here.

Partial derivatives

Let z = f(x,y) be function of two variables.
If variable x undergoes a chance §x, while y remains constant, then z undergoes a changes written as 6z

Now, dz = f(x+dx,y) — f(x,y)

oz
If 5x exist as 5x[ | 0, then we write the partial derivative of z w.r.t x as
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a a
ox ’ @y symbols are used to notify the partial differentiation.

Note

As from above theory it is clear when partial differentiation w.r.t x is taken , then y is treated as constant
and vice — versa. (All the formulae and techniques used in derivative chapter remain same here)

2"4 Order Partial Differentiation

dz 0z
If we differentiate the x ' @y w.r.t x or y , then we set higher order partial derivatives as follows.

9z oz
1% Order Partial Derivativesdx ' dy.

2" Order Partial Derivatives

0z _ o 00
Bx2  Ax ‘Bx) = Zxx = fxx

2z _ @ @)= 2
B N A
dydx 9y ‘dx y:fyx

*z _a
dxdy Ox

(

y) =z, = fiy

#z_ 0 22
oy* 9y 0y) =zyy = fyy

Note:f,x = fr, when partial derivatives are continuous .

Example -1

dz 0z
Find ox ' a9y

(i)  z=2%¥*y+xy*+5xy,
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tan~1(>
i =20
Ans.
(i) 72=2%"Y +xy° + S5xy

92 _ 0 9y20y+ Lixy2y + 2
ax ax(2x y)+* ax(xy )+ ax (5xy) ( Here y is treated as constant)

— oy 9.2 28 9
=2y —(x%) + y - (x) + 3y - (x)
—2y.2x+y%.1+5y.1

= 4xy +y* + 5y,

az a ay? a
Z=x2 2 x5 2

dy ay ay dy

—2x% + x.2y + 5x=9x% + 2xy + 5x

. tan™1 (>
(i) z= (y)
Sz __1_ 98 Xy _1
sx  14(H)2ax (y) Tyt
Y y2

<=

_y: vy

T Yy xt4y?

1 -X
)= (F)
yz

%z _ _ 1 i(i
Iy 14520y 'y

—-X

T oxZ4y?

Homogenous function and Fuler’s theorem

Homogenous function

A function f (x,y) is said to be homogenous in x and y of degree n iff (tx, ty) = t"f(X,¥) where t is any
constant.

Example — 4

Test whether the following functions are homogenous or not. If homogenous then find their degree.
. =1 E

(i) 2x7% + 327y (W) sin™C)

Ans.

() Let f(x,y)=2x%¥%+35% f(tx, ty) = 2(tx)(ty)? + 3 (tX)(ty) —2txt?y? 1 3 (2x2%y
—t 3(2xy? + 3x%y) = t3(x,y)
Hence f(x,y) is a homogenous function of degree 3.
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i) Let fxy)="""G)

s XN o 1X 0 =15 — 40
sinT'(—)=sin""=-=t"sin" () =t
@) . Q)

f(tx, ty) = f(x, y)
Hence f(x, y) is a homogenous function of degree ‘0’.
Note
(i) If each term in the expression of a function is of the same degree then the function is
homogenous.
oz ﬂ
(i) If z is a homogenous function of x and y of degree n , then ax and 9y are also

homogenous of degree n-1.

ng &
(iii) If z = f{x, y) is a homogenous function of degree n, then we can write it as z = X' (x)
e.g. In example -4(1) 2x y? + 3x%y is homogenous function of degree 3.
Now f(x,y) = 2xy? + 3x%y = x* (D)% + 3 () = x*®()
Similarly in Example - 4 (iii), f(x,y) is of degree 1.

3x2 +2y _x2 3+20)° 3+2(%)?

Now f(xy) = =105 =5 (D) =x (30 =x Q)

Euler’s theorem

oz, oz

If z is a homogenous function of degree n , then Yox 7Y ay =nz. [2014-S]
Proof: -
Since z is a homogenous function of degree n , so z can be written as
,_x"o®)
Now 3w = ¥ @) + X" 560

=IO + 2" (- 32)

=nx"! ¢(§) - X"y B (Z) oo (1)
oz _
Similarly, 37 = © ¢ G D3y @
= X" (%) (1) = 171 () ermreres 2)

Now x X Equation (1) + ¥ X Equation (2)

oz,
DXty —

A R e
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=nx"e) -x" Ty ')+ y @' ()
— g Y
=Nt nz (proved)

Example - 5

® I

Verify Euler’s theorem for z - [2014-S]

dz _ 0 y)_ y

Ans. ax  ax (x x?

=

Here z=f(x,y)=x
ty _y
Fitx,ty)=tx x =1(x,y)
Hence f(x, y) is a homogenous function of degree 0.
9z . 9z

. X =
Statement of Euler’s theorem is oz Y 9y =nz (here n=0)

0z 0z
=Sy = 4 y =
Yo Ya=0.z=0

Now we have to verify it.

From above
9z L, 92 _ (.Y 1_ y,¥
Lus="a Yoy X0y xT Xt 3=0=RHS

Hence Euler’s theorem is verified.

Exercise

Question with short answers (2 marks)

X az 9z
1) if z=sin ¥ find ax and 2¥.

2) Iff(xy)=v*¥>+¥* findf, 1, .

3) Iff(x,y) = log (** + Y- 2xy) find fux , fux, iy

Questions with long answers (5 marks)

2u-3v

4) Given f(u,v) = uz+v? , find f, (2,1) and f(2,1)
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UNIT-1V
INTEGRATION

Introduction

Calculus deals with some important geometrical problem related to draw a tangent of a curve
and determine area of a region under a curve. In order to solve these problems we use differentiation and
integration respectively.

In the previous lesson, we have studied derivative of a function. After studying differentiation
it is natural to study the inverse process called integration.

Objectives

After completion of this topic you will able to 1. Explain
integration as inverse process of differentiation.

2. State types of integration.

3. State integral of some standard functions like x™ , sinx, cosx,.... sin”'x ,...... a”® etc.
4. State properties of integration.

5. Find integration of algebraic, trigonometric, inverse trigonometric functions using standard integration
formulae.

6. Evaluate different integrals by applying substitution method and integration by parts method.

Expected Background Knowledge

1. Trigonometry
2. Derivative

Integration (Primitive or Anti derivative)

Integration is the reverse process of differentiation.

afx)_
If dx g(x), then the integration of g(x) w.r.t x is Jg()dx = f(x) +c

= The Symbol J-is used to denote the operation of integration called as Integral sign. (| The function
(here g(x) ) is called the integrand.

‘dx’ denote that the Integration is to be performed w.r.t x (x is the variable of Integration).

> 4
=> ‘c’is the constant of Integration (which gives family of curves)
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=>» Integrate means to find the Integral of the function and the process is known as Integration

Types of Integration

Integration are of two types:- i) Indefinite ii) definite The integration

written in the form J 9(*¥)@X is called indefinite integral.

b
The integration written in the form J o 9(x)dx is called definite integral.

In this chapter we only discuss the indefinite integrals. The definite integrals will be discussed in the next
chapter.

Algebra of Integrals

i. JUF () £ g()ldx = [ f(x)dx £ [ f(x)dx £ [ g(x)dx
ii. JAf()dx= A [f(x)dx for any constant

(A fCodx) = Az (Jfdn)_ 40

Iii.

Simple Integration Formula of some standard functions

i) Jkdx =kx+c

xﬂ.+‘]
i) [ gx = F O NP
1
iii)f xdx =Inlx|+ ¢

ax
iv)faxdx =—+c

Ina
v) fexdxz e* + ¢
vi) [sinxdx = —cosx + ¢ yjj
) Jcosxdx = sinx + ¢ i)
[ sec? xdx = tanx + ¢ %)
[ cosec?xdx = —cotx + ¢
x) [ secxtanxdx = secx + ¢

Xi ) J cosecx cotxdx = —cosecx + ¢

1 R
xii)f_mdx sin"'x + ¢
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. _1 - _l
i) f—mdx cos™'x + ¢

— 1
«iv) f1+ —dx =tan"'x ¢ xv) I —dx = cot™x + € xvi)
1 _ -1 —
f—xm dx = sec 'x+c¢ xvii) f—mdx cosec 'x + ¢

Methods of integration

1. Integration by using standard formula.
2. Integration by substitution.
3. Integration by parts.

1. INTEGRATION BY USING FORMULAS:-

Example -1 Evaluate the following

3 5 _ 1.5
Q) J(5x3 + 2x°> - 7x + N + x) dx
Ans :-f(Sx3 +2x° —7x + é + ;) dx

-1 E
= sfxfdx+2[x%dx—7 [xdx+ [x /zdx+5f x { by algebra of integration}

Y

3+1 5+1 1+1 =
= SXJ;H +2><J;+1 —7><Ji+1 +x_i+1 + 5In|x| + ¢
2
x* x® x2  x'l2
_ 5X:+2x?—7x?+T+SIn|x|+c
2
4 6
= 5i+"———+2x /2 + Slnx + ¢
4 6 2
= 5%+%—%+2\E+ Slnx+c

3x*—5x3+ax?—x+2
f ( ) dx Ans :

x3

(i)

4_p.3 2_
i} J-(Bx 5x°+4x x+2) dx

x3
3x* x 2
_ de f d +f—dx—f;dx+f;dx
—3fxdx—5fdx+4f—— x 2dx+ 2 [x73 dxdx
= BXﬁ—5x+4lnx—x_2H+ﬂ+c
1+1 —2+1 —3+1

x* 11
_ 3X?—5x+4lnx+;—ﬁ+c
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3x2

= ——5x+4lnx+1—i2+c
2 x X

2. INTEGRATION BY SUBSTITUTION:-

When the integral J F()dx cannot be determined by the standard formulae then we may
reduce it to another form by changing the independent variable ‘x’ by another variable t (as x=d(t)) which
can be integrated easily. This is called substitution method.

[f@de=[fegde = [FIOOW O, oo o

The substitution x=¢(t) depends upon the nature of the given integral and has to be properly chosen so that
integration is easier after substitution. The following types of substitution are very often used in Integrations.
TYPE -1

=> dx=dt
[ f(ax + b)dx a
Putax+ b = t
adx = dt

~ [ flax+bydx = [ f(t)=dt = = [ f(t)dt

TYPE - 11
[ famydx
Putx™ =t

nx"ldx = dt
=>x gy = &
n

1

[xmfeMdx = [ ()T = 1 [ f(Ddt

n

TYPE - 111
JU GO f'(x)dx
Put f(x)=t

Differentiate both sites w.r.t X,
oy = B
[ =—

tn+1

=>[{f()}".f'()dx = [t"dt = tc

n+1
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= PO L = )

n+1

TYPE-IV

)
e 4

Put f(x)=t
=>f1(x)dx = dt

1
j;((xx)) dx = f% =In[t|+c=In|f(x)|+c( fx)=10)

SOME USE FULL RESULTS

dx
1. J.ax+b
Ans :- Putaxtb=t

Differentiate both sites wrt X,

a dx
dt
=> dXx=a
dx at/,  1dt 1 1
f _ J' = —[ == ZInjt| = -Injax + b] +c.
ax+b t al t a a
—dx _I =
axb c
axba
2. [ cotxdx

Ans:-J cotxdx

f cosx
sinx

Put sinx=t

Differentiate both sites w.r.t x,

dt

coSx =—
dx




=>dt = cosxdx

d dt .
o[22 = [Z = In|t| = In|sinx| + ¢
sinx t

INTEGRATION OF SOME TRIGONOMETRIC FUNCTIONS
Example — 3

i)Evaluate J Sin3x cos2x dx

Ans :- J Sin3x cos2x dx
=%f sin(3x + 2x) + sin(3x — 2x) dx
= %f(sinSX + sinx)dx

- %f sin5xdx + %f sinxdx

1 —cos5x

= 2 5

1
+-(—cosx

2 ( )+c
-1 1
—cosbx —=cosx + ¢
10 2

;—;(COSSX — 5cosx) + ¢

ii)Evaluate [ sin2x sinx dx

Ans :- | sin2x sinx dx
%f cos(2x — x) — cos(2x + x)dx
%f(cosx — cos3x)dx

%f cosxdx — %f cos3xdx

sin3x
3

1 . 1
=X sinx — =X +c
2 2

1. 1, 1 . )
5 Sinx — gsm3x + c= E(BSlnx —sin3x) +c¢

INTEGRATION BY TRIGONOMETRIC SUBSTITUTION

ENGG.MATHEMATICS-II

TRIGONOMETRIC INDENTITIES
1-sin%0 =cos?0(or 1 — cos?6 = sin?0)
tan’6 + 1 = sec?@ (also cot?6 + 1 = cosec?8)
sec?0 — 1 = tan?0 (also cosec?@ — 1 = cot?0)

- the integrand of the formva? — x2,\/x2 + a2, vVx% — a? ;4 be simplified by putting
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X=a sinf
X=a tanf
X=a sect
X=a cosf
X=a cotf
X=a cosec &

Note
1.The integrand of the form a’ - x* can be simplify by putting x= a sin 0 (or x = a cos 6)
2. The integrand of the form x’+a’ can be simplify by putting x= a tan 8 (or x = a cot 6)

3.The integrand of the form x’ - a’ can be simplify by putting x= a se 0 (or x = a cosec 0)
Example -4

dx

i) Integrate I vat-x?

f dx
Ans :-° Vaz-x2

Let x=a sinf
Differentiate both sites w.r.t x
dx = a cosBdd

X
. 0=>0 = sin”1=
And x=asin a

acos@d6@ _ |acosf

dx _ _ o1 X
W‘Jm‘ 2cosg 40 = JdO=0+c=sinT T+

Hence [

f dx
ii)Integrate 7 x2+a?

J- dx
Ans -7 x2+a?

Letx =atané




diffentiating both sides w.r.t x,

dx = asec*0d8

X
6 tan —
a
And x = tanf =>
dx _ r asec’6d@
Hence J‘x?’+az - J‘aztanzﬂﬂ

_J- asec?0d8
a?(tan0+1)

_J-seczﬂdfi
asec?f
1 1 1 _1 X
=-[do = -0 +c==tan"'=
a a a atC
dx x
f —tan — ¢
X a a a

3.INTEGRATION BY PARTS:-

ENGG.MATHEMATICS-II

If v& w are two differentiation function of x,then

d dw dv
™ (vw) = v + W
Lo Loow)—w
Or v dx ~ dx vw w dx
Integrating both sites,

dw d dv
Jv—dx= [—(w)dx— [w—dx

dv
_ fw— dx
= WV - dx
dw

Letu= o thenw = [udx

Then the above result canbe writtenas | uv dx = (| udx) v- udx) x dv dx
dx

This rule is called integration by parts and is used to integrate the product of two functions

Integration of the product of two functions

= (integrai of first function)x second function — integral of (integral of first x derivative of second)

Int.of product =(int.first)xsecond — [ int first der second dx)
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[ Before applying integration by parts we have follow some important things which are listed below.

1. In above formula there are two functions one is u and other one is v. The function ‘u’ is called the
1%t function where as ‘v’ is called as the 2" function.

2.  The choice of 1* function is made basing on the order ETALI . The meaning of these letters is
given below.

E — Exponential function
T — Trigonometric function
A — Algebraic function
L — Logarithmic function
I — inverse trigonometric function

The following table-1 gives a proper choice of 1% and 2™ function in certain cases. Here meN, n may
be zero or any positive integer.

Table-1
Function to be integrated first function second function
x"e* e* x™
x"sinx sinx x™
x"cosx coSsx x™
X" (Inx)™ X (Inx)™
x"sin~!x x" sin”!x
x"cos™'x x™ cos 1 x
x"tan~'x x" tan™' x
Example — 11

Integrate J x cosx dx

Ans :- | x cosx dx { from table-1, 1° function = cosx and 2" function = x }
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{f(cosx dx)}x — [([ cosx dx) x %.dx

= xsinx — [ sinx.1.dx

= xsinx + cosx + ¢

Example — 12
Integrate J x*e¥dx

Ans:-J x%e*dx { 1* function = e* and 2™ function = x? }
=(fe*dx).x* — [([ exdx)% (x*)dx

—x%e* — [e* x 2xdx

- x?e* -2 [xe*dx { again by parts is applied taking e* as 1% and x as 2" function.}

— x%eX = 2[(fe*dx).x — [([ e¥dx).1.dx]
=x 2eX — 2xe* + 2e¥ +c= (X2—2x+2)€x+c

Exercise

1.Evaluate the following Integrals (2 marks questions)
1
i) J xVxdx
4
il 1
i) f(x? + xl_/i) dx

1-sin3x
iii)f sin?x dx

2.Evaluate the following (2 marks questions)
. f x%dx
D) | ——=
(1+x3)2
ii) fsecz (3x + 5)dx

(tfan'UC)'*‘ar
i) 172 X
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Definite integral

Introduction

It was stated earlier that integral can be considered as process of summation. In such case
the integral is called definite integral.

Objective

After completion of the topic you will be able to
1. Define and interpret geometrically the definite integral as a limit of sum.
2. State fundamental theorem of integral calculus.
3. State properties of definite integral.
4. Find the definite integral of some functions using properties.
5. Apply definite integral to find the area under a curve

Expected Background knowledge

1. Functional value of a function at a point.
2. Integration.

Definite Integral

Integration can be considered as a process of summation. In this case the integral is called as definite
integrals.

N

a=Xp Vi X3 V2 X Xo1 Vo X,=b
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Fig-1

Definition:-

Let f(x) be a continuous function in [a,b] as shown in Fig-1 . Divide [a,b] into n sub-intervals
of length hl, hz, .............. hpi.e. h1 = x1 — Xo 5 hyo=x0 — x4 g eeenereeens 5 hn = Xy — Xn-1

Let v, be any point in [Xe1, ;] i.e. Y1 € x[0.X1], V2 €[*1,X2] ... ... , Vn € [*n-1%n].

Then the sum of area of the rectangles (as shown in fig) when n’] is defined as the definite integral of

b
f(x) from a to b, denoted by fa f(x)dx
Here, a = lowerlimitofintegration

b = upperlimitofintegration

Mathematically,

1) = [haf(ve) + hof(va) + +h f(V )]

Fundamental Theorem of Integral Calculus

If f(x) is a continuous function in [a,b] and JFx)dx —g (x) + ¢, them

| = ® (b) - ® (a)

Note :- No arbitrary constants are used in definite integral.

Example:

2 3
1.Find ; *° dx
Ans.

3y =X
Firstﬁndfx ax ="y
X
Here, f(x) =x3, ® (x)= 4
By fundamental theorem

2 3
L d g 0)-o )
_ 2t 1t _ 16
4

4

<+ 4
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J—l dx
2.Find J0 1+x2

Ans.

1 dx _ -1 .11
i =fan~t x4
=tan"'1 - tan™10

="T_n= E
T a 0 4.
32 x2
3.Find [z 2%€" 4x
Ans.
3 2
fz 2xe™ 4

{Let x?=u=>2xdx =du, whenx =2, u=x2=4,
Whenx =3, u=x%=9,

So, lower limit changes to 4 and upper limit changes to 9}
= ff etdu

—[€"13 =e%-e*(Ans)

Properties of Definite Integral

2 fodx = [ fOdt

Explanation
Definite integral is independent of variable.

e.g fzg x?dx = f: u?du = f: t2dt

2. [0 f(odx = - [ fo)dx

Explanation

If limits of definite integrals are interchanged then the value changes to its negative.
3 2
eg. J, xdx = - [ xdx

3. f; fx)dx = [ f)dx + [ FOOAX \p e acech,

Explanation

If we integrate f(x) in [a,b] and ¢ € [a,b] such that a<c<b, then the above integral is same if we integrate
f(x) in [a,c] and [c,b] and then add them.

f; xdx = f: xdx + [ 46 xdx

e.g. verification

2
Jy xdx = 8
2 2 2 2 e [ J— (1)
6 2 2 2 22 62 2
J; xdx + [ xdx = G+ 51 = [4?—?] + [7_"‘?]

= -+ -5 =(8-2)+(18-8)
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=6+10=16 ---------- (2)
From (1) and (2) we have,

6 _ 4 6
J-2 xdx = J-2 xdx + -[4 xdx(veriﬁed)

. Jy f@dx = [ f(a — x)dx

~ . E s [
ce. J¢ sinxdx = [?sin(5 — x) dx

verification
Jgsinxdx =[_ - X6
=-[cos§—coso]=-[o-
. 1] =1 (1)

Jz sin(g = %) 4x = J ¢ cos xdx

m

7 —gin®
—sinx]0 ~ Mz sin0o=1-0 =1 )

From (1) and (2)

> si = (zsin (T —
Jg sinxdx = [2 sm(2 x) dx(veriﬁed)

5. (i) If f(x) is an even function, then

a - a
J_ofdx =2 [ f(x)dx
(ii) If f(x) is an odd function, then
L fndx=0
Example: - By this formula without integration we can find the integral for

f(x) is an odd function if

[f (-0)=-f0)
Sinx , x ,x3......... are examples of odd functions. f(x) is
an even function if

[f () = f(x)

Cosx,x“,x"......... are examples of even functions .




ENGG.MATHEMATICS-II

Example:-
2 24, =9 (2,2
Jo,x%dx =2 [ x*dx
{f(x) = x%is an even function as, f(-x) = (-x)? =x 2. So,f(—x) = f(x)y

Similarly,

Reason
f(x) = sinx => f(-x) = sin (-X) = -sinx
So, f(-x) = -f(x)
[] f(x) is an odd function.

6.0 [ f@dx=2 [[fOOdx it f2a ) —fex)

(i) J3* FOOX_ g it 522 - ) = -0,
7 2 f0dx = [ f(a+ b — x)dx

Problems

1
Q1.Find J_,/xldx
Ans.
x| = {—x, x<0
x| = x, x=0

|x| changes its definition at ‘0, so divide the integral into two parts (-2,0) and (0,1).

NOW, .r_lzlxldx
= O lldz + [ 1xldx (property 3) o f@Ix = [ f() dx + [ f(x)dx,

= f—z —xdx + fo xdx{when, -2 <x<01.e.x <0 then, [x| =-x }

=- (512, + b
272 " L2 10%when, 0 <x<1li.e. 0<xthen,|x|=x}

S A i A S i
=-E-=1+5-3]

=-[0-31+-01=2+;

6
Q2.J-6 1% + 2l gx =
Ans.

6 8
f—e X+ 2] gy = f_4|u|du {Letu=x+2=>du=dx, when,x=-6,u=-6+2=-4}
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{when, x =6,u=6+2 =8}
=l gy + o Iuldu{property (3}

= f_04 —udu + fos udu

{ when -4<u<0 then Tul = -u and when 0<u<8 ,then Tul = u}
u? 0 u? 8
=-S5+ o
2 2

)% +5 W] = -5 102 — (~4)* ]+ (82— 0]

=8+32 = 40(Ans)

Area under plane curve

In our previous study we know that the definite integral represents the area under the curve

Area enclosed by curve and X- axis

Area enclosed by a curve y = f(x) , X-axis , x = a and x =b is given by

Fig-2

Area:fabf x dx
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Example — 1
Find the area bounded y = e* , X-axis x =4 and x =2
Ans.
Here y = e* is the curve
Area of the curve bounded by X-axis, x =4 and x =2 is
Area = f;y dx = f24 e*dx
—[e"]2=e* — €2 (Ans)
Example — 2
Find the area enclosed by y=9 -x? , y=0,x=0and x = 2.

Ans.

2 2
Areazfo ydx = fo (9 —x*)dx

= 9%~ 5T oxz) 3 - (©-O)
=18-2=228 -2 (Ang)
3 3 3

UNIT-V
DIFFERENTIAL EQUATION
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Introduction

After the discovery of calculus, Newton and Leibnitz studied differential equation in connection with
problem of Physics especially in theory of bending beams, oscillation of mechanical system etc. The study
of differential equation is a wide field in pure and applied mathematics, physics and engineering.

Objectives

1. Define differential equation.

2. Determine order and degree of differential equation.

3. Form differential equation from a given solution.

4. Solve differential equation by using different techniques.

Definition of Differential Equation

A differential equation is an equation involving dependent variables, independent variables and
derivatives of dependent variables with respect to one or more independent variables.

dy
Here xis an independent variable, y is dependent variable and dx is the derivative of the dependent variable
w.r.t. the independent variable.

N dy 2
-0) =+xy=x
Examples: ) dx y
ii) Lyt Yy (Q)4+y =sinx
dx3 dx? dx

oy d .
iii) =X+ sinx = cosx

dx .
Differential equations are of two types as follows: -

Ordinary Differential Equation

An ordinary differential equation is an equation involving one dependent variables, one independent variable
dy d2y
and derivatives of dependent variablewith respect to independent variable. Mathematically F (x,y,dx " dx2

. d}’ _ 2
- —_ 4y =
Examples : £) ax Y TX

3 2
i) Y 4 4dy (%)4

dx? dx? +y = sinx

d
iii) d—i+ ytanx = secx
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Partial Differential Equation

A partial differential equation is an equation involving dependent variables, independent variables and partial
derivatives of dependent variable with respect to independent variables.
dz | 0z
— et — = X
Examples:-3x 3y Y
2 2 2
a“u + a*u + *u _

— -+-—=0
ax%  dy%  9z?

In this chapter we only discuss about the Ordinary differential equation.

Order and Degree of Differential equation

Order

The order of the differential equation is the highest order of the derivatives occurring in it i.e.
order of a differential equation is ‘n’ if the order of the highest order derivative term present in the equation

1S n.

ay

Examplel: -dx ty=2x

dy
The highest order derivative term in the equation is dx , which has order 1.

-order of the differential equation is 1.

4 3
- d’y  d°y + (d_y)4+
Example- dx*  dx? dx

y=X

dty
The highest order derivative term is dx* , having order 4.

Hence the above differential equation has order 4.

Degree

A differential equation is said to be of degree ‘n’, if the power i.e. highest exponent of the highest order
derivative in the equation is ‘n’ after the equation has been freed from fractions and radicals as far as
derivatives are concerned.

Before finding degree of a differential equation, first we have to eliminate those derivative terms
present in fraction form i.e. in the denominator and derivatives with radicals i.e

ﬂ 3 ﬂ 4 ﬂ
dx’ Ndx’ \dx terms,
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Example:- Find the order and degree of following ordinary differential equations.

. dy dy. 4 3, d dy- a
i) —==3 xii + — + 3(—
) de ( ) + ) ( ) dx3 (dx + COSX :0

a2y _ (dy )4
Ans: -i) dx?

2’y
Here dx? is the highest order derivative term.

Hence order of the differential equation is 2.

Again equation does not contain any derivative term in fractional form or with radical.
Ly
Power of the highest order derivative term dx2 is 1.

Hence degree of differential equation is 1.

(G2 + 52+ 3@

daxt dx3 + cosx =0

ii)
'y
From above it is clear that ax* is the highest order derivative term with power 3. Hence order =

4 and degree =3

Linear and Non-linear Differential Equation

A differential equation is said to be linear if it satisfies following conditions.
i) Every dependent variable and its derivatives have power ‘1°.

ii)The equation has neither terms having multiplication of dependent variable with its derivatives nor
multiplication of two derivative terms.

Otherwise the equation is said to be non linear.

. ay
Examples:- dx+ Xy = x?
ady . 4d%y
X — + Yy =sinx
ii)dx3 ez Y
d®y azy
ey — +y— = 4x
1i1) dx3 Y ax2

dy3 day
|v)( ) +1=2%




ENGG.MATHEMATICS-II

d3y+ dy d?y
V) dx®  dx dx? +y=4x?2

Among the above examples (i) and (ii) satisfy all the condition of linear equation. So the 1% two equations
represent linear equations.

dly
The (iii) is non linear because of the term Y @x? which is a multiplication of dependent variable y and
d?y
derivative term dx2.
dy
The example (iv) is not linear due to the 1% term which contain dx with power 3 violating the 1
condition of linearity.

The example (v) is not linear due to 2" term which does satisfy the 2" linearity property.

Solutionof a differential equation:-

The relationship between the variables of a differential equation satisfying the differential equation is called
a Solution of the differential equation i.e y = f(x) or F(x,y)=0 represent a Solution of the ordinary differential
dy d?y d’y
equation F (x,y,dx” dx2’"""" dxn) = 0 of order n if it satisfy it.
There are two types of Solutions 1) General Solution 1ii) particular Solution

General Solution

The Solution of a differential equation containing as many arbitrary constants as the order of the
differential equation is called as the general Solution.

d?y
Example-Y= Acosx+ B sinX js 3 general Solution of differential equation dx2
Particular Solution

+y =0

The Solution obtained by giving particular values to the arbitrary constants in the general solution is
called particular solution

ﬂ +v =0

Example: - y=3 cosx+ 2 sinx is a particular Solution of differential equation dx2 y==°

Differential equation of first order and first degree

ay
A differential equation of 1% order and 1% degree involves X,y and dx .

dy

x,y, 2 )=0
Mathematically it is written as dx  =f{x,y) or F(™’ Yo ax
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Solution of Differential equation of first order and first degree

The Solution of 1% order and 1 degree differential equation is obtained by following methods if they
are in some standard forms as 1) Variable separable form ii) Linear differential equation form.

Variable Separable form

If the differential equation is expressed in the form,

fx)dy + g(y)dx = 0 then we say it variable separable form and this can be solved by
integrating the terms separately as follows.

[ dx

Solution is given by © 9(») i

—log | g | +log | F(x) | =logc
=gfx) =c

Where 9(¥) and f(x) are functions of y and x respectively, is called a variable and separable type equation.

ay

_— = 2
Examplel: - Solve dx x“+2x+5

_dy_ 2
Ans:” dx x“4+2x+5

= dy = (x% + 2x + 5)dx

Integrating both sides we have,

—~fdy= [(x?+2x+5)dx

x3 2x? x3 2
=>y="_+2_+5x+C= =— +
y=3 > 5x +C 7t +5x+C(AnS)

v _ 2y
Example-2: - Solve dx  x2+1.

ay _ 2y
Ans dx  x2+1
=>ﬂ dax
2y x?+1

:>fﬂ = dx

2y x24+1
=>- 1

log,y = tan X, o

=108,y =2tan~'x +K  {2C =K is a constant as C is constant}

Linear Differential Equation
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A differential equation is said to be linear, if the dependent variable and its derivative occurring
in the equation are of first degree only and are not multiplied together.

~dy .
Example: g Ty = sinx i)

dy —
i + ytanx = secx etc.

General form of linear differential equation

The general form of linear differential equation is given by,

dy _ d
dx+Py_Q y

is linear in y and ax.
Where P and Q are the functions of x only or constants.

This type of differential equation are solved when they are multiplied by a factor, which is called integrating
factor (L.F.).

LF.=e/Pdx
Then the solution is given by y (I.F) = JQ.(I.LF)dx +C
If equation is given in the form
dx dx
—+ Px=4Q . o -
dy , where P and Q are functions of y only or constants and is linear in x and 4¥ ,
then

LF.=e/Pdy
Then the solution is given by x (L.F) = JQ.U.Fydy +C
This can be better understood by following examples.

(1+x2) 2+ 2xy = x3( 2014

Example-11: - Solve -S, 2016-S, 2017-W).

Ans: -(1+ xz)g + 2xy = x3

d 2 3
== xy _ x

dx = (14x2)  14x?

dy
By comparing with the general form of linear differential equation dx

Py=0Q

2x x3

Here P= (1+x*)& Q= 1+x2
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_2x 4
Now integrating factor LF. = eJ P 8% = I ?) *(putting 1 + x% = t =>2xdx = dt )

dt
=elT zent=t=1 42
Solution is given by

x3
1+x2

yxILF.= [Q.(I.F)dx +C =]
2 _x*
Hyl+ —4+c

(1+x%)dx +C=[x3dx+c

x* c

R Teyey t

dy

A — =X
Example-12: - Solve dx ty=e

Ans: - By comparing the given equation with general form of linear differential equation we have, P=1
andQ=e™*

LF.=elPdx=gJldx - ox

Solutionis Y- (- F.) = [Q.(I.F.)dx +C
= e*e*dx + ¢
—~ye* —[ldx+c—yx4¢

=y =xe *+ce™*

29y
1-x )dx Xy = 1(2017_S

Example-13: - Solve )

- 2
Ans: (1 x)a'x xy=1

dy x 1

=>— — =
dx 1—x2y 1-x2

Comparing with general form we have,

_ x 1
P 1-x2 and Q = 1-x2

[Pdx — ,J——zdx 2o ot
Now LE. =€ e 1 (Putl—x?=t=> —2xdx = dt => —xdx = 7))

Zeﬁzi_i: e%lntzeln\ft :ﬁ
=1 —x2
Solutionis ¥-(.F) = JQ.(I.LF)dx +C

=>yV1—x2 = f1_1x2V1—x2dx +C=f\[1d_xT+c

=sin"'x+c¢




Hence solution of the differential equation is given by

sin"1lx n c
1—-x2 1—x2 (Al’lS)

Exercise
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Question with short answers (2 marks )

1. Find the order and degree of the differential equations.

ay _ dy\313/
) A= [1+ G372 (2016 o
a?y _ dy

%/
i) axz dx) } (2019-W

)
2) Solve the following

L= e (2019

i) dx )
@y _ 2y dy_
i) dx  xe41ii) ax - LAY

Questions with long answers (5 marks)
3) Solve the following

d
h L+ x?) 2+ 2xy — 4x? = 0 (2019

ay

i) ax + ytanx = secx (201 5-S)




